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Attempt all five questions.
All questions carry equal marks.

Ji mﬂ:rfa’wﬂ‘%sata?ﬁm
yﬁwﬁ%ﬁm?:

1. (a) “A stranger 10 a contract cannot sue.” Comment
on the statement, giving exceptions, if any-

p.T.O.
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(b)

(®)

‘EW*WMW@&WV
sﬂmmm,mlﬁﬁé%@,ﬂﬁ%a’r,ﬁwﬁ
e | 10

A offers B to sell his ‘HIG Flat’ for Rs. 2 crores
and directs him to send his acceptance only by
e-mail. B sends a letter of acceptance by post. Is
there valid contract between parties? What would
be your answer if A does not reject the acceptance
made by e-mail within a reasonable time?

A,Baﬁmmeqﬁza’rmﬁssoﬁéﬁiﬂ
e 3 2 etk SR wipln Faw e g A
& Fed 21 B W B W T G A2
= wel ¥ wed 49 ey g7 YR W
arm A A sfaa @ & erat A g Wl
s = srfiaR @ w82 5

Or (19e)

Explain the rights of surety against creditor,
debtor and co-surety.

mmaﬁim-wﬁ%aﬁamam%ﬁ
sl & e S | 10

Raghav, aged 16 years, fractures his leg while
playing cricket. He goes to a doctor and gets his
leg plastered. The doctor demands a fee of Rs.
2,000 but Raghav refuses to pay on the ground of
minority. The doctor files a suit against Raghav.
Will the doctor succeed?



2. (a)

(b)
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Define ‘condition’ and ‘warranty’. Explain various
implied conditions in a contract of sale.

W @ arvd’ @y wRaifis #ife fasg
agawﬂ'ﬁ%aﬁf‘wmffa%mql 10

A, at gunpoint, forces B to sell his car to him for
Rs. 50,000 and then sells it to C for Rs. 5 lacs, who
buys it in good faith and without knowing that A

. had forcibly bought it from B. B, later, sues C for

(a)

getting the car back. Will he succeed?

A,Wﬂﬁﬁ%BaﬁmTﬂ'{so,OOOFoﬁ
ﬂaﬁ%mmméaﬁﬁmaﬁcaﬂs
WG Fo ﬁ’%ﬂmé,iﬁsﬁmuﬁ(ﬂimﬂ)ﬁ‘
Eﬂzﬁmé,ﬁmqamﬁﬁAﬁsﬁBa
mmm:mﬁa,cmwmwﬁ
%%&wmé:wwm%? 5

Or(a'ﬂla'l)

Who is an ‘unpaid seller’ What are his rights as

PO,
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against the goods under the Sale of Goods Act
1930?

0% ‘Haw famar’ s 8 2 wet = fawa sifafem
1930 & sFwfa o % fowg 3% T4 Afu=ER
2?2 10

(b) Define the term ‘goods’ under the Sale of Goods
Act, 1930.

a & fasa sfafm, 1930 & ot ‘o’ we
i uftaifia Fifeg | 5

- Explain the following:—

(a) Eligibility conditions for becoming a partner in
ELP

(b) Change of registered office of LLP
(c) Extent of liability of designated partner.

f =t sEme—
(a) LLP ¥ U% WRCR a7 ¥ Iugwhal o
(b). LLP & Ysiiga smfay w1 yRady

(c) TfHa WEER & afae & a7 55,5
Or (¥17a)
(a) How does an LLP differ from a Limited Liability
Company?

LLP wHifig oifae ot @ 3 fir 22 10




(b)

4. (a)

(b)

(2)

(b)

5 3156

Write briefly the procedure for conversion of a
private company into a LLP.

@ﬁﬁﬁmﬁ%upﬁqﬁaﬁﬂﬂﬁaﬁm
= daq # fafet | a3

Define digital signature. Describe the steps for
creation and verification of digital signature.

Briefly explain the provisions relating 10
E-Governance aunder IT Act, 2000.

T sfafaas, 2ow%:mﬁa'€—wﬁwam
mmﬁaﬁﬁmﬁlmt 7
Or (219e)

What are the duties of “Certifying Authorities”
under IT Act, 2000?

ITaTFaﬁﬂﬂ.znw%azm‘mﬁmmm%
mrmﬁ&f’%mama%? 8

Define the following as defined under IT Act,
2000:

(i) Computer Network
(i1) Intermediary-
ﬂafaﬁﬂﬁ,zmo%mﬁﬂaﬁtrﬁqﬁﬂ
o

P.T.O.
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5. (a)

(b)

(2)

(b)

(i) FrEt TEE
(i) weaH | 7
What are the tax advantages of LLPs in com-

parison with a company form of business?

m%mﬂm%mﬂﬁupﬁwm
w7 ? 8
State the circumstances when an agent is
personally liable to the third parties for the acts

done during the course of agency. Give suitable
examples.

37 offefedl # FaEg 59 cr ¥ A
ﬂﬁﬁlﬁ(ﬁﬂ)%ﬁﬁﬁqﬁziﬂﬂiw@
T §1 @ SEEE E@ 3 sfaa STE
& 7
Or (3g=)

Explain the doctrine of “Public Policy”. Discuss
the agreements contrary to public policy.

‘mm’%maﬁmxmﬁﬁi%m
great @ faaea w 8
Who can be appointed as designated partner in an

LLP? Also discuss the procedure of his appoint-
ment.

LLPHﬁ?{TfﬁHm%ﬂIéﬁmﬂﬁiﬁgﬁfa;m
o @ 22 sEw = wtwn & o
faaaa e | 7
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Attempt all questions.
Marks are indicated against each question.

Simple calculator is allowed.

Use separate qmwer—sheers for Part A and Part B.
Log table and graph shall be provided on demand.
PTO.
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Part A (WRT )
(BUSINESS MATHEMATICS )

Time : 1 hour Maximum Marks : 25

1.
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A manufacturer is engaged in the production of three products
P, O and R, which are sold in three different markets X, Y and
Z. The annual sales of these products in these markets are
given below :
Products
Markets P 0 R
X {1200 500 1000}

Y 800 1700 600
VA 500 2200 900

You are required to find:

(i) The total revenue from each market, if these products are
sold at Rs. 50, Rs. 30 and Rs. 40 respectively.

(i) The gross profit from each market, if the cost of produ-
cing these products is Rs. 40, Rs. 25 and Rs. 30
respectively. _

T S § A P, 0, R 1 S IR W ¥ N A
S vt ATl X, ¥, Z 3 3 ¥ | e e fae
frr 2 '

2
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39

TSR P g R
X (1200 500 1000
Y {800 1700 600
Z 1500 2200 900

R e &
6) n@mm%@rm,aﬁﬁmsom, 30 B9
T 40 T9Y W HA: A o @ ¥

Or (San)

An amount of Rs. 5,000 is put into three investments at the
rates of interest of 6%, 7% and 8% P-a.respectively. The total
annual income is Rs. 358, The combined income from the
first two investments is Rs. 70 more than the income from
third. Find the amount of each investment by using Cramer’s
rule.

5000 T H @G 6%, 7% TAT 8% e = 33
mﬁﬁ%ﬁﬁmﬁmﬁh@mﬁmmm 9a &
T A P @ afefe am d P & amg &
7omm¢%tﬁmmﬂwmaﬂﬁa‘fﬁ=ﬁﬁ%m
feremTierd | 7

3 B0



2. (a) If the total cost function is given by C=a + bx + ex?,
where x is the quantity of output, show that :

%(AC) = l;(MC - AC)
where MC and AC are marginal cost and average cost.
aft @ A HeT C=a+ bx + o %, o7t x I @
e ¥, @ REnt -
4 (Ac)=1(MC-AC)
s MC ol AC e @ e Sivea a §1 S
(b) Amonopolisthasadmnmdcurvcx=219—3pandaveragc

cost AC=8+ (%) where p is the price per kg and x is

the number of kg of output. Determine the output at which
the maximum profit can be earned and the amount of

maximum profit.

F THES H AT aw & x =219 -3p A @
mtm=s+({§), wef p e i foe & @ x

¥ gaEd @ gen e 7| & I Mg

ﬁlﬂﬂaﬁﬁwwmmm%waﬁﬁﬂ

T W S g | 5
Or (3remr)

(a) If the demand law is x = %, find the elasticity oful

demandintcrmsofpanditsvnluewhmp=3.
3157 4




(b)

3. (@)

3157

afe iy P & x= e, @ p@ W& K A A
(p+1)

qaT TEE e 99 p =3 ;T g | 5
A piece of machinery costs Rs. 15,000. The total cost of
operation from the time of purchase upto a time £ i8
given by the function 30# + 20t. If the machine is sold as
scrapaﬁcrryears,theresalcvalueisgivcnbyﬂicﬂmction
8520 — 502, Find the optimum time for the replacement of
the machine.
@mﬂm@uls,womtnma‘qmﬁt
waﬁmﬂﬂ@rmmmﬂmﬁﬁw
m%luﬁtﬂqﬁqmﬁmﬁ%ﬂm%
ar wae g Ry e Fe 8520 507 F faan s
$ nefw B Fa@w @ SgREad Wl ffegt 5

A person deposited Rs. 20,000 in a bank at 5% compounded
annually. After 5 years, the rate of interest was increased
to 6% and after 4 more years, the rate was further
increased to 7%. The money was withdrawn at the end of
12 years. Find the amount.

@mﬁﬁ%s‘%aﬁﬁaﬂﬁwmzo,ooom
@%ﬁﬁmﬁ?&lﬁﬂaﬁmmﬂm 6%

5 PT.O.
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(b) A debt of Rs. 20,000 due 3 years hence and another of
Rs. 50,000 due 6 years hence are to be paid off by a
single payment 4 years hence. If the rate of interest is
6% compounded semi-annually, how much is this
payment?

20,000 T F TF F1 3 IS Uy 37 F&T TG FOT

50 IR & 6 I UyEw 27, 4 ¢ UG UF S -

IEE & e o ¥ o wwafs s = 6%

ot & & 7w g R e 4
Or (sram)

(a) A banker credits the fixed deposit account of a deposit @
12% p.a. compounded quarterly. Find out the effective rate
of interest that is allowed by the bank.

UF S T § WAH w6 @ § 12% afts s
& R R & wwafn fear o 0 8% @
Higd FHEHH A ) ) 4

(b) Anitem is being depreciated in such a way that the value -

of the item at the end of any year is 90% of the value at

3157 6
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40,000. Find the value of machine after 5 years and
depreciation amount for the fifth year.

Bt 72 g e b o wr & R
mmw%mﬁmw%m%mw
90% wm%:wmaﬁmmooom%:
wmﬂsﬁmﬁwmﬁmﬁytﬁa&w
aﬁm#m‘ﬁm&l 4

ParT B (Wmr 39)

nanormal distribution.
mmﬁmmawwm
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(¢) Find the average rate of increase in population which in

the first decade increased by 20%, in the second by 30%

and in the third by 40%.

U% STTEEAT w5 10 a7 § 909 T &, T 10 It

¥ 30% T dray waq’fho%aw%lmmq%

F S X Frah 6
Or (3raan)

(a) What is the formula of empirical mode method? Find out

the median for an asymmetrical distribution with mode and
mean equal to 26.6 and 28.1 respectively.

Wﬁzﬁ&m@wt?wﬁwﬁﬁm%

(b) The mean salary paid to all the employees in a certain

company was Rs. 600. The mean monthly salary paid to
male and female employees was Rs. 620 and Rs. 520
respectively. Find the percentage of male and female
employees in the company.,

Rl ol & sl ety F FAE R
aﬂ'ﬂa%awsoom&%awmﬁﬁmﬁa‘faﬁ




R mar sirea it 39w @99 620 B9 @ 520
T B F ¥ gew qer wff wdaRal @ wiee

ST HIrT | 7
5. (a) What is the relationship between Q.D., M.D. and

8.D.7

QD, MD &7 SD ¥ &7 wwg &7 2

(b) The mean weight of 150 students is 60 kg. The mean weight
of boys is 70 kg with a S.D. of 10 kg. For the girls, the
mean weight is 55 kg and the S.D. is 15 kg. Find the number
of boys and girls and the combined SD
150 fenf¥fal # st @om 60 far %1 weat @
S For 70 et & ofr wrw R 10 et B
wsfRar & R i aor 55 fhelT IR W a9 15
foet &1 wsal o wefedt @ Pt s R e
STH WYFT A e ot fafi 8

Or (3ran)

(a) Find:

(1) the range that contains the middle 50% of the items
(i) Quartile Deviation
(iti) Coefficient of Q.D.,

from the following data :
3157 L PTO.



X 1120 21-30 31-40 41-50 51-60

Foye 4 T
frey el ¥ @ HC
x 1120 2130 3140 41-50 51-60
R g 5 . :
@ q= 50% Wal & 9aH
i) aqes frEe f
(i) T fEe & TN 8

0% and 60%. Their
their arithmetic

(b) The coefficients of two series are 4
§.D.are20and 16 respectively. ‘What are

means? :
awrﬂgvﬁm%am%%lmmhﬂm
2

FOT: 20 IG%IF%MWW%?

6. (a) What is coefficient of determination and what is its

use?

ferfeer =t
(b) Is it true that
twice as close as 7= 0.4?

wm%WWr=o.s@

zﬁmm%ﬁWWr=o.s
2

2

mﬁiw%mmwlm%?

a correlation coefficient r = 0.8 indicates 2

relationship
T I8 Hel
Ay = H
F G A §7

3157 10
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(c) Calculate the correlation coefficient from the following

results :

N=10, X =350, £Y =310,

I(X-357=162, (Y - 312= 222,

(X -35) (Y-31)=92.

Also, find the regression line of Y on X.

et Romdt & we-wm e @ o HfTg :

N=10, £X =350, Ty =310,

(X -35P=162, X(Y - 312= 222,

(X -35)(Y-31)=92,

Y @ X Wyl e P 6
Or (3rean)

(a) Write down the properties of regression coefficients,

MW%WE&WI 2

(b) The Rank Correlation Coefficient between marks obtained

by some students in Statistics and Accountancy is found to
be 0-8. If the total of squares of rank differences is 33,
find the number of students.

%o Felfal arr wifers qor dammr @ T
aﬁw%vﬁasmmo.smwmﬁ%ﬁ

11 P.T.O.



ﬁﬁ%mﬁwtﬂﬂss%zﬂﬁuﬁﬁa&m

fFyamrferd | - 6
(c) Differentiate between correlation and regression.
qewa A ydwmE § 97 B | 2

7. (a) Distinguish between seasonal and cyclical fluctuations with

suitable examples.
e wor 9 Sar-derdl A AT I e
Hirg | 4

(b) Fit a straight line trend by the method of least squares
to the following data and estimate sales for 2018 : ]
Year 2000 2010 2011 2012 2013 2014 2015 2016
Profiis 80 90 92 83 9 99 92 104

(Rs. Cr.)
foyer aifel wt el e waf @ e f fRfr &
TIET SR 9018 & fory fpa Srgaifa @Y -
Cil 2000 2010 2011 2012 2013 2014 2015 2016
A 80 90 92 83 94 99 92 104

(35 To) 6
Or ()

(a) What is Time Series Analysis 7 What is its utility in
business world?

3157 12




m&"ﬁﬁa@fﬂﬂrw%?mﬂmaﬁgﬁmﬁ‘mﬂ
7 SUAE ¥7 3

(b) Find the trend values by using 3 yearly moving average

method for the following data :
Year Sales (in Rs. '000)
2006 40
2007 42
2008 40
2009 44
2010 49
2011 46
2012 42
2013 44
2014 44
2015 50
Py sitedl & frg d At TR iR faftr a@
wafe e T A
T fera (1000 To )
2006 40
2007 42
2008 40
2009 44
2010 49

3157 13 P.T.O.



2011 46

2012 42
2013 44
2014 44
2015 50 7

8. (a) What is the difference between fixed base and chain

base index?
ﬁmqu‘@mm@ﬁwww
B? 2

(b) Find index number for the three years taking average
price as base by using Price Relative method :

Year Price Per Quintal (Rs.)
A B o
2015 3 5 8
2016 5 & 6
2017 7 6 7
ofrae G F AR AHH T T R g
-3 o N gEET g HifT -
T Ter i Reew (o)
A B g
2015 3 5 8
2016 5 .4 6
2017 7 6 7 6
3157 14




(c) What are the main considerations while selecting base
year to construct index ?
Tt S EE STER a H g A § &= g
faar & ¥? 2
Or (@)
(a) What are the various tests of adequacy of index
numbers?
i @ i & @ e e ¥ 3
(b) Given the following data, show that Fisher's Ideal Index

satisfies the Time Reversal Test and Factor Reversal

Test :
Commodity 2016 2017
Price [Expenditure Price Expenditure
A 8 80 10 120
B 10 120 12 96
C 40 5 50
D 4 56 3 60
E 20 100 25 150

Wa‘iﬂ%ﬁﬁﬁ-mm%wmm
WWWWWWWW
F TGE A &

3157 15 P.T.O.
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1. (@)
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The books of Essex Ltd, showed the following balances
on 31st March, 2017:

i foio 2 e A 31.3.2017 Fr frr 99 &

Rs.|
(i) 30,000 Equity Shares of Rs. 10 each
fully paid 3,00,000
@) 5,000, 10% Redeemable Preference
Shares of Rs.100 each fully paid 5,00,000
(i) 1000, 8% Redeemable Preference
Shares of Rs. 100 each, Rs.70 paid up 70,000

@iv) General Reserve 1,50,000
(v) Profit and Loss Account 3,20,000
(vi) Securities Premium 30,000
(vii) Investment 2,40,000
(viii) Cash at Bank 79,200

On 1t April, 2017 the Board of Directors decided toredeem
10% Preference Shares 2t 8 premium of 8%. In order to
pay off Preference Shareholders the company decided to
sell the investments, utilise company’s fund and to raise
“the balance by the issue of sufficient aumber of Equity
Shares of Rs. 10 each at 2 prémim'n of Re. 1 per share
subject to leaving a cash balance of Rs. 19,200 after such
redemption. Investments were sold for Rs. 2,16,000. Show
necessary Journal Entries to record the transactions.

| e 2017 B Pk S A 109 S S
8%WWW$@HWW|WW—

2




mﬁﬁ@w'mﬁammﬂﬁaaﬁmaﬁ
mﬁﬁum,mﬁﬁﬁﬂaﬁmwﬁmw
ﬁmmﬂwaﬁqﬁrﬂ%%m 10 BIY & FAA
Figt & 1*6w2tuﬁ’iaiﬂr$sﬂﬁmmaﬁﬂqmﬁ
Wﬂmﬁmﬁﬂhmlwﬁﬂ?%mwmo
Gﬁﬁrma’mwmﬁﬁmz,lsmosﬂr&%a&
w&tmaﬂagﬁ&ﬁ%aﬂ%ﬁaﬁﬁaﬁm 10

(b) Explain the provisions of Companies Act, 201 3 regarding

conditions for Buy-Back'pf Shares.

st & e # qat @ wre e

9018 & WAL AR | 5
Oor (“)

(a) -On 1st April, 2017 AG Ltdhad 1,000, 12% Debentures of

3158

Rs. 100 each. The interest is payable on 30th September

and 31st March every yeat. The company acquired in the

open market the following Debentures for immediate

cancellation :

(i) June, 30th 2017, 200 Debentures @ Rs. 98 (cum-
interest); \

(ii) November Ist, 2017, 100 Debentures @ Rs. 100.25

(cum-interest)

(i) February 1,2018, 100 Debentures @ Rs. 98.50 (ex-interest).

Write necessary journal entries in books of the company,
jgnoring brokerage and income-tax.

3 ' PT.O.




1.4.2017 F AG foro & T& 100 9@ a1 1000, 12%
maumsomﬁ?amﬂﬁﬁqﬁaﬁaﬂ
2

T T =3 & Ry e ¥ gy sew & FE
Fos W [

(i) 30 S 2017 I 200 FTHH @ 98 To (7T &™)
(ii) 1.11.2017 & 100 FTIH @ 100.25 To (¥ =)
(iii)1.2.2018 I 100 ¥ @ 98.50 T9 (Fa=m =)
mmmﬁﬂa&mm&gmﬁaﬁﬁmﬁ
¥ smavas e wharedt fafeg | 10

(b) What do you mean by ‘Book Building’ method in context

of issue of shares? What are its advantages?

ﬁﬁ#ﬁhﬂ%aﬁﬁwmﬁfﬁ%m

3158

T I &7 5
2. The following is the Trial Balance of PQR Ltd. as on 31st
March 2018 :
31-3-2018 &1 PQR fio @1 qwwe =1 o1 :
Particulars Debit (Rs.) Credit (Rs.)
Equity Share Capital
(Rs. 10 per share fully paid up) 10,00,000
12% Bank Loan 2,00,000
Surplus Account 3,70,000
Trade Creditors 1,60,000
Sales 58,40,000
Sales and Purchase Returis 24,000 30,000

4



Provision for bad debts . 40,000
Building (at cost) 5,00,000 _
Machinery (at cost) 15,00,000 “
Stock 1,20,000 :
Trade Receivables 5,00,000
Bad debts 21,000
Cash and Bank 49,000
Interim Dividend Paid @5% 50,000
Corporate Dividend Tax on

interim dividend 10,000
Purchases 41,00,000
Salaries 7,49,000
Manufacturing Expenses 2,30,000
Auditor’s Fees 60,000
Provision for depreciation onbuilding 80,000
Provision for depreciation onMachinery 2,90,000
Bills Receivables 35,000
Director’s Sitting fees 50,000
Preliminary Expenses 12,000

£0,10,000 | 80,10,000

From the above-mentioned balances and the following
information prepare the year-end Statement of Profit and Loss
and Balance Sheet of the company as per Schedule III of
Companies Act, 2013.

(i) Stockon3lst March 2018 was valued atRs 2,00,000.
(i) Provide 5% for depreciation on cost for Building and

10% for depreciation on cost for Machinery.
3158 5 P.T.O.




(i) Maintain provision for bad debts at 2% on debtors.

(iv) Make a provision of 40% for income tax. -

(v) Transfer Rs. 27,000 to general reserve.

(vi) Write off preliminary expenses.

(vii) Bank loan was raised on 15th October 2017.

(viii) The company is disputing a claim of Rs. 10,000 for
workmen’s compensation.

wuRferfaa Sraf @ Forey gl & e sifefra 2018 &t

ST I3 AR FT & I B I H1 e e

a1 am-E e ar #ifg

() 13.3.2018 @ W F TeAT 2,00,000 TIT AT -

(i) waT N T W 5% YRR q@l T H ARG T
10% WEaerE Ya i | '

(i) ¥ ¥ gE@ WO & Q2% W WEEE S9E
W™ |

(iv) SMEER & YTEE 40% X HL

(v) 27,000 T94 WD 9T § SO 6

(vi) wrfws =g smfufa e o

(vii) % T FOT 1.10.2017 @t T fRar T

(viii) Fefard afagfdd = 1oooom&$rmarm=ﬂmr
faafea &1 15

 Or (sra)
Balance sheet of Diamond Ltd as on 31st March 2017 is :
31 &7, 2017 F 3EAUS fifo & M¥E ST ¥ THER

%
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particulars
1. Equity and Liabilities

1. Sh.arCholdcr's funds
3000 shares of

(a) Share Capital-
Rs. 100 each

(b) Reserves and Surplus—

General Reserve

(2) Fixed Assets
(i) Tangible Assets
‘Land and Building

(i) Intangible Assets—
Patents and |

(a) Inventories
®) Trade receivables
(c) Cashand Cash Equivalents—

Bank Balance
9 PTO.
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The expert valuer valued the Land and Building at Rs.
3,00,000; Goodwill at Rs. 1,60,000 and Plant and Machinery
at Rs. }.70.000. The profits of the company are 2s
follows :

2014-15 : Rs. 80,000;

?.015-16 - Rs. 90,000;

2016-17: Rs. 1,30,000.
Similar type ofoompanymatl()% of the value of their
shares.
Asmhﬂ:cvalueofs}mesoﬁhccompany under:
() Intrinsic value Method
(i) Yield Value Method
mmﬁaﬁﬁmﬁmmm ; gty T W
3,00,000; &Y 1,60,000 qar €4 A il 1,70,000
FIA | T % q == ¥
9014-15 80,000 TI;
2015-16 90,000 T,
9016-17 1,30,000 T

_aﬁ%mﬁmﬁmdﬁaﬁmﬂm%m

mﬁttamﬁéa‘sﬂmqmﬁmfaﬁ:ﬁ%
e -

(i) avefas T R
(i) wifter s TRifE 10




(b) What are the factors determining Goodwill of a firm?
mﬁﬂ@ﬁﬁﬁﬂﬂﬁmﬁmw%‘ 7 5

3. The Balance Sheet of Apex Ltd. 25 at 31st March, 2017 is as

follows:
o firo @1 31.3.2017 & R F
Particulars ' Note| Figures at the end
No. | of current reporting
% period (Rs.)
EQUITY AND LIABILITIES
Shareholders’ Funds
(a) Share capital 1 5,00,000
(b) Reserves and Surplus 2 1,30,000
Non-Current Liabilities 3 2,10,000
Current Liabilities 4 75,000
Total 9,15,000
ASSETS ,
Non-Current assets
Fixed assets
(a) Tangible assets 5 5,65,000
(b) Intangible Assets 6 60,000
Current Assets
(a) Inventories 80,000
(b) Trade Receivables 1,280,000
(c) Cash and cash _"'-'_d__; : 30,000
Towml | 9,15,000
Notes to accounts: ——-; Rs.
1. Share capital - 500,000
Equity share capital ..'.'
lssued, subscribed and fillypesd:

3158 k] P.T.O.




40,000 of Rs. 10 each Rs. 4,00,000

10% Preference Share Capital
Issued, subscribed and fully paid: RS 1,00,000
1,000 of Rs. 100 ah 8 '
2. Reserves and Surplus 1,30,000
General Reserve Rs. 50,000
p& LAk Rs. 80,000
3. Non-Current Liabilities , 2,10,000
12% Debentures . Rs. 165,000
Staff Provident Fund Rs. 45,000 i
% Current Liabilities 75,000
Trade payables Rs. 75,000
5. Tangible Assets 5,65,000
Land and Building Rs.2,25,000
Plant and Machinery Rs. 3,00,000
Furniture Rs. 40,000 .
6. Intangible assets
Goodwill Rs. 60,000

On 1st April, 2016 Aru Ltd. acquimd-allamts(emept cash to
the extent of Rs. 12,000) and liabilities of Apex Ltd. on the
following terms :

(i) The assets of Apex Ltd- to be valued as follows: Goodwill
at Rs. 40,000, land and building at 20% more than book
value, plant and machinery and furniture at 10% less than
book value, sundry debtors at book value subject to @

3158 10



provision of 5% for doubtful debts and other assets at book
values.

(ii) The purchase consideration to be discharged by issue of
30,000 equity shares of Rs. 10 each at a premium of 10%,
1100 10% preference shares of Rs. 100 each at par and
the balance in cash.

(iif) Debenture holders of Apex Ltd. be discharged by issue of
sufficient 12% debentures of Rs. 100 cachata premium
of 10% in Aru Ltd.

(iv) The expenses of liquidation of Apex Ltd. amounted to Rs.
12,000.

You are required to prepare (i) Realisation Account, (i1)

Preference Shareholders Account, (iii) Equity Shareholders

Account, and (iv) Bank Aceount, in the books of Apex Ltd.

and Pass Journal Entries in Ii! books of Aru Ltd.

142016 @ s fwo T W fro @ @t weafel
(12,0@@%#@M)Wmﬁw gt W

() wEs o ﬂmwwmm:
@ﬁw,uoom,ﬁamwﬁazo%%
m,muwvzéﬁmwlﬁﬁw%

l




so,moaqmmmm&nﬁrarﬁw%ﬁﬁmm,
1100, 10% Sftrr aigt 100 B9 9 & A W
qur 9N 7HK |
(i)udws fro & sorqeeRat @ s o fdo 7,
i den ¥, 12%Wwomaﬁfﬂ|@r 10%
fiftray T @ S
(iv)mﬁo%qﬁmm%mu,ooomgqn
mmﬁfoaﬁg@aﬁﬁmm%:ﬁ)a@
are, (i) sferrr Sgrenial H @, (ii) GoaT S
enfidt &1 @, (iv)ﬁmm;mmﬁfoaﬁrgaﬁ
¥ ww wiafedt SR 15
Or(m) -
ThemmnarisedBalanocShectofRﬂhiLtd.asatMstMarch,

2017 was as follows : .
$1.8.2017 & TS fro =7 ditre o fager et &

, A
Particulars Note | Figures at the end
No. | of current reporting
period (Rs.)
EQUITY AND LIABILITIES
Shareholders' Funds
(a) Share Capital 1 5,00,000
(b) Reserves and Surplus 2 [1,42,800)
Non-Current Liabilities 3 80,000
Current Liabilities 4 64,800
Total 5,02,000




ASSETS

Non-Current assels

(a) Fixed assets

Tangible assets

Intangible assets

(b) Non-current investments
Current Assets

(a) Inventories

(b) Trade Receivables

(c) Cash and cash equivalents

2,80,000
6 20,000
24,000

54,000
1,18,000
6,000

Total

5,02,000

Notes to accounts:

|. Share capital

Equity share capital:

40,000 shares of Rs. 10 each
amount paid up on each share
Rs. 7.50

Preference Share Capital :
2,000 9% Preference Shares of
Rs. 100 each fully paid up

Rs. 3,00,000

Rs. 2,00,000

500,000

2. Reserves and Surplus
P & L Alc (Deficit in statemenl
of Profit and Loss)

(1,42,800)

3. Non-Current Liabilities

Unsecured long term loan

80,000

3158 i3
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4. Current Liabilities ' 64,800
Sundry Creditors Rs. 48,000
Bank overdraft Rs. 16,800
5. Tangible Assets 2,80,000
Land and Building Rs. 1,60,000
Plant and Machinery Rs. 1,20,000
6. Intangible assets 20,000
Goodwill Rs. 20,000

Dividend on Preference Shares has not been declared for two

years.

Nomvisiontnsbecnmsdcfor Sales Tax liability of Rs. 9000.

The following scheme of reorganisation was approved and

confirmed by the court -

(a) Uncalled capital is to be called up in full and equity shares
are to be reduced to Rs. 5 per share.

(b) SalesTax liability of Rs. 9,000 ‘s to be paid immediately.

(c) Land and building are tobe Mninﬁnﬂahncc Sheet at
full market value of Rs. 2,20,000 and Goodwill is to be
written off.

(d) Trade creditors have consented for 25% of remission of
liability on a condition Mﬁ%o{uﬂ'ﬂﬁﬁf?aﬁdmﬁﬁﬂm
is paid forthwith and the balance is paid within one year.

(e) luvestlmtsarctobetakcnowbyﬁmkinﬁﬂl settlement

3158 14




(f) Preference shareholders have agreed to give up their right
for the two year dividend and accept 12 fully paid equity
shares of Rs. 5 each for each fully paid preference share.

Pass journal entries to bring the scheme into effect and prepare

reconstruction account.

mmﬁﬂﬁm%'mwﬁﬁmw%wmﬁ
m%ﬁmmmﬁw%’mﬂémﬂﬁaﬁfaﬂw
%lwmgmﬁnf!ﬁﬁqmttsgwgqaﬁ
HE:
(i) m@iﬁﬁﬁm%ﬁmmdmmaﬁﬁ
ﬁmsm&uﬁrﬂma@ml '
(ﬁ)g,ooosq&%mwmﬁaaﬁtmmwﬁa&
s ‘
(iﬁ)gﬁawa?raﬂﬁﬁ@iz,zo,omm&%m%@
mmemeﬁmWa&
ST |
(iv)mm#mmuT%%ﬂrg%m
o o weaty & & 6 e e & 25% T
frr ST o 99 0 ¢ F o AT H fear
AT |
(v) s & & f w3 FRE & S
(vi)mmm&ama‘,mﬁmm
ﬂmwmmwmmm%ms
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s iy A 12 Oof Ye EAT S 9T A A

geafa &)

doer # A FA B R o wfafedt #fn T

g:fAmfor @ ST

15

4. Following are the balance sheets of H Ltd. and S Ltd. as at

31st March 2016 :

31.3.2016 ® H fio 3 s fro & =1 anffe Rred

T

Particulars Note] HLtd. | SLtd.

No.

EQUITY AND LIABILITIES

Shareholders ' Funds

(a) Share capital

Fully paid shares of Rs. 10 each| 1 {20,00,000 5,00,000

(b) Reserves and Surplus 2 |13,00,000 | 5,00,000

Non-Current Liabilities - -

Current Liabilities 3 |10,00,000 | 5,00,000
Total 43,00,000 | 15,00,000

ASSETS

Non-Current assels

(a) Fixed assets

Tangible assets 16,00,000 |12,00,000

(b) Non-Current Investments .| 4 23,00,000

Current Assets 4,00,000 | 3,00,000
Total 43,00,000 | 15,00,000

3158 16



Balance on
1% April 2015 Rs 600000 Rs-3,00000
Profit for the year Rs 400000 Rs.1,00000
o Gurrem Licbilities  H 1L ' SLd
Creditors Rs 00000  Rs-400,000

ba_msmh Rs.2,00000 R 100,000

Bills Payable issued by S Ltd. have been accepted in favour of
H Ltd.
Prepare Consolidated Balance Sheet of H1Ltd. and 5 Ltd. as

g | 15

1158 17 P.T.O.




Or (m)

(a) Following are the extracts of Balance Sheets of H Ltd.

3158

and S Ltd. as on 31st March 2017 :
H Ltd. (Rs.) S Ltd. (Rs.)

Equity Shares of

Rs. 10 each fully paid up  9,00,000 2,50,000
General Reserve 1,60,000 40,000
Profit and Loss Account 80,000 25,000
Investment (80% Shares

of SLtd) 1,55,000
H Ltd. acquired 15,000 shares of S Ltd. for Rs. 1,55,000
on 1st July 2016.

Profit earned during the year amounted to Rs. 20,000
whereas General Reserve has remained unchanged since
31st March 2016.
Calculate Minority Interest and Cost of Control/Goodwill.
31.3.2017 % H fto 7 § fofo & anfife fRredi & =
ey forld T ¥

HLtd. (Rs) SLtd. (Rs.)
T S 10 TG TF W& 9,00,000 2,50,000
qE w9 1,60,000 40,000
e @ 80,000 25,000
s (s fro & 80% siwT) 1,55,000
1.7.2016 @t H fro ¥ S foio & 15,000 3T 1,55,000
T A o R '




a&a’%aﬁmzo,ooommmwwmm
Fa 31-3-2016 § Akt ¥

SIS A S w1 A T
Hig | : 8

(b) Explain the following in context of a banking company -

(i) Standard Asset; (if) Sub-Standard Asset and (iii) Doubtful
Assets.

mm*m#ﬁqaﬁmz
(i) W weiet (ii) STE FE; (iii) |
g 7

5. (a) Zenith L1d had the following balances as on 01 April 2017;

3158

1 ot 2017 @ A fo & dw ¥

Amount (Rs.)

Fixed Assets 11,40,000
Less: Depreciation. (3,99.000)
7,41,000

Inventory and Trade Receivables 4,75,000
Cash and Bank Balance 66,500
Trade Payables 1,14,000
Bills Payable 76,000
Equity Share Capital (Shares of Rs. 100 each) 5,70,000

The Company made the following transactions for the
financial year 2017-18:

(i) The company paid an income tax of Rs. 25,000 during

the year.
19 P.T.O.
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(i) An interim dividend was paid at the rate of 10%
(Ignore CDT).

(iif) The company acquired fixed assets costing Rs. 1,90,000
after selling one machine for Rs. 38,000 costing Rs.
95,000 and on which depreciation provided amounted
to Rs. 66,500.

(iv) Inventory and Trade Receivables, Trade Payables and
Bills Payables at the end of financial year were Rs.
5,60,500, Rs. 1,48,200 and Rs. 98,800 respectively.

(v) Profit before tax is Rs.1,04,500 but after depreciation

“ofRs.1,14,000.
Ascertain the cashflows from operating and investing
activities for the year 2017-18.

Rl 2 2017-18 § o Frey S92 T 8 ¢

(i) 7 & e @t 25,000 B SR B ST HA
21

(i) arafts s 10% @ | W fBFar 1@ (CDT &t
e FITY) |

(i) T 1,90,000 T i REw wafwEt W @
frga BT 38,000 TIX & 95,000 TIT TG ATl AT
T &97 T, B W 66,500 TIA FH Hrgerd qdr S
qH &1

20



(iv)Tefmn @@ @RS i, e ARl
mhﬁaﬁﬁl‘aaﬂ%aﬁwﬁs,so,wos@,
1,48,200 Y4 4T 98,800 w4 HE: 4
(v)a?{a‘#q\a‘mlm,soomﬁmmﬂwﬁ%
TE 1,14,000 I AT
ad 2017-18 %m&mﬁqﬁﬁ%ﬂnﬁﬁfﬁﬁﬁ
Tz vaTe ghfEa i | 10
(b) Discuss briefly the major classification of cash flows as
per AS-3 (Revised).
As-a(#sﬁma)%mmwﬁ%g@mﬁmw
F7 gt fade A | 5
or () '
The following are the summarized Balance Sheets of ABC
Company Limited as on 3]st March 2017 and 2018:
| ABC Fwrt fifo & 81 W, 2017 3 2018 & Wit fgd
P R
Particulars Note| As at 31% | As at 31+
No. | March, March,

2018 (Rs.) | 2017 (Rs)

1 EQUITYANDLIABILITIES
| Shareholders’ funds

(a) Share capital 9,00,000 | 800,000 i

~ (b) Reserves and surplus | 1 4,32,000 3,62,000 ‘

2 Non-current liabilities I.

' (2) Long-term borrowings| 2 - 1,50,000 \

3158 21 PT.O.




3 Current liabilities
(a) Short Term Borrowings - -
(b) Trade payables 5,53_,000 2.,15,000
(c) Other current liabilities _ - =
(d) Short-term provisions 3| 55,000 55,000
Total 19,40,000 15,82,000
11 ASSETS :
1 Non-curren! assets
(a) Fixed assets
(@ Tangible assets 4 |10,75,000 6,66,000
(b) Non-current investments 36,000 1,78,000
2 Current assets
(a) Inventories 4,25,000 4,05,000
(b) Trade receivables 3,80,000 2,78,000
(¢) Cash and cash equivalents | | 24,000 40,000
(d) Other Current Assets 5 = 15,000
~ Total 19,40,000 | 15,82,000
Notes to Accounts : 5
Note| Particulars As at 31ist | As at 31st
No. March, March,
2018 (Rs.) [2017 (Rs.)
1 |Reserves and surplus :
Securities Premium 20,000 —
Surplus 4,12,000 3,62,000
4,32,000 3,62,000
2 |Long-term borrowings :
11% Debentures - 1,50,000

3158
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3 | Short-term provisions

Provision of Tax 55,000 55,000
4 | Fixed Assets:
Machinery ! 13,35,000 9,10,000
Less: Accumulated
Dcpreciation (2,60,000) (2,44,000)

10,75,000 6,66,000

5 | Other Current Assets :

, Prepaid Expenses - 15,000

Additional Information:

(a) The company paidmimer'mldividcnd of Rs, 80,000. Ignore
CDT.

(b) Purchased a new machinery costing Rs. 5,00,000.

(c) Disposed off a fully depreciated machinery having original
cost of Rs. 75,000 and no salvage value.

-.‘_‘.__r.—f_"

Jaar

_(d) New shares were issued during the year at 2 premium of
20%.

" (e) Debentures wcreredeemﬂdonlstApril 2017.

You are required to prepare cashflow statement as per AS-3

(revised) with working notes. 15 '

St g - |.

(a) TP aaﬂqmmﬁmao,ooomﬁ (cpT W '
e HRTQ) |

(b) 5,00,000 T4 At Fwr wE @

3158 _ 23 PTO.




() w=mmﬁm@mmvsmm
ﬁﬁﬂﬁwmwwﬁrwmaﬁaﬁm

Al |
(d)aé%amm%diﬁmﬂmaﬁaiﬁrﬁrﬁﬂﬁﬁﬁi

(e) 1.4.2017 2 TG B Ara TR T
FITH AS-3 (ﬁﬁﬁﬂ)%'«gﬁqmmﬁmﬂmh
mﬁﬁmﬁaﬁ%ﬂ:ﬂzﬁaﬁm 15
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but the same medium should be used throughout
the paper.
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g difed: afeT &t ookl T qregg g & &r
ey |
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1. (a) What is cost accounting? State briefly the advantages of

cost accounting.
AT ST ¥ WA dEi @ are B ea |
qqr] | 7

(b) Distinguish between :
(i) Bin card and Stores ledger
(ii) Waste and Scrap.
I BT
G) fa #E IR VR W
(i) ST SR HTE | 8
Or () -
(a) Differentiate between Direct costs and Indirect costs with
suitable examples.
TRIE T T ST W SR ST aﬁlﬁw.l 5
(b) Following data pertain to material X :

Cost of placing an order Rs. 100

Annual carrying cost Rs. 15

Normal usage 50 units per week
Minimum usage 25 units per week
Maximum usage 75 units per week
Reorder period 4-6 weeks

No. of weeks in the year 52

Compute from the above : (i) Re-order Quantity, (ii) Re-
order Level, (iii) Minimum Level, (iv) Maximum Level, (ﬂ

Average Stock Level.
3159 2




IR T HN AR 100 92

aitfes T @rTa 15 9

A ST 50 Fh1E Y e
P W@ 95 THE YA qAE
SfermaT  wanT 75 THTS Uid T
U SRy rafer 4 & 6 gaE

¥ ¥ g @ S 52

I F TOET BT -

() g TR AEA

(i) T IR T

(iii) =TT ®X

(iv) St & :
(v) 3ad &g T 10

2. (a) A manufacturer’s product passes through two distinct

3159

processes A and B, and then to finished stock. It is known
from past experience that wastage occurs in the process
as under :

In Process A 5% of the units entering the process and in
Process B, 10% of the units entering the process.

The scrapvalueofwnsngcinproccssAisRs. 8 per 100
units and in process B Rs. 10 per 100 units. The process
figures are :

3 PTO.
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Rs. Rs.
" Material consumed 3,000 1,500
Wages 3,500 2,000
Manufacturing expenses 1,000 1,000

Process A Process B

5,000 units were brought into Process A costing Rs. 2,500.
The outputs were : Process A : 4700 units, Process B :
4150 units. '
Prepare process cost accounts showing the cost of output
and all other relevant accounts.

TFH SAEE H 9T 3 = afmaet, AH?ITB'\EI'
T AR AT F UEEaT € | 9O SIWa | var gl
& o5 ufepamsil & afy feer g Skt 2 -

giRar A H ufhar § oM il IEEAl &1 5% adl
gikar B ® A 9t sHEdl & 10% |

ST AT 6 T g P Go 8 JT 100 TR & e Wk
B ¥ 10 To Wi 100 ZoE | Wk & s e E

wiEEa A witkar B
To " Ho
T e @Y T 3,000 1,500
LEE 3,500 2,000
SAEA =q 1,000 1,000

ufthar A® 2500 TIY WFTG B 5000 IHEAT @E T
IQTEA @ ¢

gEHAT A 4700 3T, YFHaT B 4150 $&TE |

4
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Wﬁmaﬁtmwm@ﬁfaﬁﬁ@ﬁ

BQ kT AET @ R 10
(b) Briefly explain advantages of integrated accounts.

T @ @ Al B EaT § FEE | 5

Or () |

(a) What are the advantages and limitations of activity based

costing?

TRRRr SR A e & e o el H

FaTEd | 5

(b) A manufacturer requires 500 units of a component monthly.
This is currently being purchased froma supplier at Rs. 50
per unit. The cost of placing an order is Rs. 30 and the
annual carrying cost is Rs. 4 per piece. What is the
economic orderquantity (EOQ) for placing an order? Also
find the number of orders to be plac;ed in a year for the
component and the time lag between two orders.

@ TERE B T qaeE A 500 I Wir HIE DI
AT & | T ¥ T8 U dadd § 50 T W
aré F Wi on T B1 R 3 A qEE 30 T E
R TR TET TG 4 T T IHE ¥ | ARA F B
maﬁﬁmwmmi?ﬁm%mﬁ
F Py oy 2 WfR? & SRl & i F-S

# FaEY | 5
(c) The following information relates to a transport
company :

3159 5 PTO.
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It 100%
£ 60%
SRy 30%
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incomplete, degree of completion was ag follows :
Materia] 100%
Labour 60%
Overhead 30%

OnMarch |, there was no Work-in-progregs in the Process
A. You are required to Prepare : (i) Statement of Equivalent
Production, (ii) Statement of, cost, (iii) Evaluation Statement
and (iv) Process Account,

mwmma}m & E
shmsooms‘q‘f,a’rﬁ;tpfeﬁ‘,ﬁwmwmﬁw
o7

T 100%

L 60%

SR 30%
%WﬁMAﬁﬂﬁ#!ﬁmﬁ‘m?ﬁm
STE FIR ey &

7 PToO.
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Administration overhead at Rs. 3 per unit of production.

Selling and distribution overheads at Rs. 4 per unit sold.

Prepare :

(a) Costing profit and loss account

(b) Financial profit and loss account

(c) Statement reconciling the profit or loss disclosed by the
costing profit and loss account and financial profit and loss

account.
13-3 —20123%3%3&%%3%@?@@%%@
g E

%o

yeE AR ST ! 2,50,000
TEE gy 1,00,000
FRE@M SIRAT 3,80,000
JYTEAE SR 2,50,000
fppa o T SIREE 4,80,000
Ecofen] 20,000
qrafs = (sefafes 769) 10,000
Jafe O°5 5,000
T e R 50,000
T T WS 10,000
1,20,000 T HI fasha 7,00,000 A
S & —

S T 40,000 THEAT 1,20,000

g & & 80,000

3159 9 PT.O.



AN @l § Yar Twer §

g AT STEeT 2,80,000 Fo

FREAT IRAT F T&T =TT B 20% TG A &

yyTaRE SUREE 3 FYY Wi SR IR

P T BT SUREY 4 w94 Wi R 3R

A FifS -

() WE H-E @

(i) s FrE-EF @wr

(iii) AT WTH-gIN @ 9 s arrety @ |
IeEien @ A1 ey guRifa & fg faaer 1S

4. (a) What is labour turnover? Explain the causes of labour

turnover and the methods of measuring it.
S A F4T BT ¥7 59 Sad B HROT q°T SER
a9y & all & qIHE] | 6
(b) A transport company has been given a 20 km long route to
run a bus. The bus costs Rs. 50,000 and has been insured
@ 6% p.a. while annual taxes amount to Rs. 2,000. Garage
rent is Rs. 100 p.m. Yearly repairs will be Rs. 2,000 and
the bus is likely to last for 5 years.
The driver’s salary will be Rs. 3,000 p.a and that of the
conductor Rs. 1,800 p.a. Cost of stationery will be Rs. 600
p.a., manager’s salary is Rs. 400 p.m,, who also looks after
accounts.
Diesel and oil will be Rs. 25 per 100 km. The bus will
make 3 trips carrying on an average 40 passengers
-oncachirip.'IhebusrunsonanavemgeZSdaysina

month.
3159 10



Assuming 25% profit on takings, calculate the bus fare 10
be charged from each passenger-

s qREe F B w20 ey T AT O T E
9 F A 50,000 To & AR @ 6% At T A
%.aaﬁ?aﬁaﬁmaﬁnﬁrz,ooom%tmﬂ
e womi’rqi%fnrs%nmﬁaam 9,000 T3
madﬁﬁamwmsaéamaﬁm S ¥
amﬂaaﬂaﬁma,ma@mwmqﬁmﬁ

ff @)

S @ @ 100 B 25‘6¢3faﬂé\1mamh=raa?i
ﬁai\'aaﬂmmﬁhﬁrammmﬂﬂlmm’
<& @ T Aaad 25 e wm|
W%za%mmm%§q@$mﬁ%mm
o R Y O i | 9

Or ()

What is idle time? What are. the causes of idle time
and how should idle time Wages be treated in cost

accounts?

a@wwﬁmhmw%wmé\ﬂﬁ?
i @ ot J e T Tegh & T
wmmt? 6

(b) X Ltdhas undertaken the construction of aroad. The value

of the contract is Rs. 15,90,000 subject to retention of 20%
11 PT.O.

—



until one year after certified completion of the contract
and final approval of the engineer. The following are the
details as shown in the books on 30 September, 2014 :

Rs.

Labour on site 4,05,000
Materials direct to site 420,000
Materials from stores 81,200
Hire and use of plant 12,100
Direct expenses 23,000
General overhead allocated to the contract 37,100
Materials on hand on 30th September, 2014 6,300
Wages accrued on 30th September, 2014 7,800
Direct expenses accrued on 30th

September, 2014 1,600
Works not yet certified at cost 16,500
Amount certified by the engineer 11,00,000
Cash received from contractor 8,80,000

Prepare : (i) Contract Account, (ii) Contractor’s Account,
and (iii) show how it will appear in the balance sheet.

x firo 3 = wes & Pl o o @ fear @1 sgea &
T 15,00,000 T9 ¥, word B 20% U FAT AT B
TN AN @ TF 99 Uy ad T Sontal & st
FTRT W | 30-9-2014 W Teaant # e R Ramg
7T :

3159

Bo
|EE W 89 4,05,000
|ET F YIW amiEt 420,000

12




5.
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i & gt 81,200

Hax @ s e 12,100
s al 23,000
aaaﬂ:aﬁarmﬁamﬂgqmmﬁm 37,100
30?&3@'{20143%5&!@31!@ 6,300
30 Fa 2014 &1 FAIRA il 7,800
30 RIR 2014 Y SUING T FH 1,600
Wmmﬂmﬁmﬁﬂaﬁ 16,500
SRy T S T 11,00,000
S @ A O 8,80,000
Far HIN ¢ =
@) W@WI(ii)Wmﬂ@ml(iii)ﬁ@ﬂﬁﬁ
wwﬁ%ﬂmmmt 9

(a) Explain any two percentage methods of absorption of

factory overheads.
Wmamﬁ@éamﬁw
& weEd | 5

(b) The information given below has been taken from the cost

records of a factory in respect of 2 Job :
Direct material Rs. 6,000
Wage details :
Department A 60 hours @ Rs. 30 per hour
Department B 40 hours @ Rs. 20 per hour

Department C 20 hours @ Rs. 50 per hour
13 PT.O.




The variable overheads are s follows :

Department A Rs. 15,000 for 5,000 hours

Department C Rs. 12,000 for 500 hours

Fixed expenses arc €8 . sated at Rs. 50,000 for 10,000
working hours. Calculate the cost of the Job and the price
for the Job to give 8 profit of 20% on the selling price.

L Ll Feelt %o 6,000
s U AN

e A 60 6 @ Rs. 30 gfq €T

faww B 4062 @ Rs. 20 ¥R 9

fawwr C© 2ou%@ns.souﬁnizr
e = A R mE:

v A 500086 & R w0 15,000

fawm B 1,500 & Rl 0 30,000

frsm C 500 92 & ol B0 12,000

(a) How are research and development expenses treated in

cost accounts?
3159 14
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v At & g ora PeR W AR
B ¥? 5

(b) From the following particulars compute machine hour
rate

(i) The original cost of machine used was Rs. 50,000. Its
estimated life is 5 years, the estimated scrap value at
the end of its life is Rs. 5,00'0. The estimated working
time per year is 2,200 hours (50 weeks of 44 hours) of
which machine maintenance is expected to take up
200 hours. No other loss of working time is expected.
Setting up time estimated at 100 hours is regarded as
productive time.

(i) Electricity used by the machine during prbduction is
16 units per hour at @ cost of Rs. 2.50 per unit. No
current is taken during maintenance Of setting up.

(i) The machine requires 2 chemical solution which is
replaced at the end of each month at a cost of Rs. 200
each time.

(iv) The estimated cost of maintenance per year is Rs.
12,000.

(v) Two attendants control the operation of the machine
together with five other identical machines. Their
combined weekly wages and insurance amount to Rs.
1,800.

(vi) Department and general works overheads allocated

_ to this machine for the year amounted to Rs. 20,000.
3159 15 P.T.O.
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ﬁqmm@ﬂﬂﬂﬂﬁaﬁmm:

@) mﬁwaﬁnﬁmﬁﬂﬂmﬁmqﬂmmﬂm
T | TEE AT SR 5 af ¥ qur S9b
mm%mﬁmﬂgﬂs,womﬁwﬁﬂ
3| g FRiT @9 H A 2200 R E (44
ﬁ%wﬁrm%mw@ﬁaﬁ%zmﬁ%mﬁ#
%wm%%nmdm.wﬁ@éaﬂtmﬁaﬁ
g 7E ¥ 100 B2 B WG TE B IACH
T WAL A T |

(i) 5t 2 fae, ST & 899, 16 gf= wie =T,

050 T U qRE @ AR &, ST e B
W%wmwmﬁ%mmw
v T B :
.(ﬁnqsh#a%qaswuﬁa?ﬁawaﬁmﬁm%a}
.qﬁ%%mﬁmﬁmw%mﬁa&
AT 200 TIY B
(iv)ra—taraahcﬂaqﬂamm 12,000 T9 ¥ |
(v)qsﬂﬂmrmrdﬂmaqﬁmaﬁﬁummﬁ%aﬁt
5 St T o Tt g€ ¥ 1 S WA wied
worgd T ST 1,800 FA 9T B
(ﬁ)ﬁﬂnﬁﬂmmmaﬁmﬂﬁwWﬁ
st 75, 20,000 T4 &1 10
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1. Write short notes on any three of the following:
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(a) Linguistic Barriers
(b) Non-Verbal Communication
(c) Grapevine
(d) Feedback
(e) Barriers to Communication.
frg & ¥ el 9 W dfyga feaoi fafe
(a) W AU
(b) R-uifEs FER
(c) AT
(d) wfafssan
(e) WAR F IEAY |
Or (39d)

5x3

(a) “Effective communication leads to success.”

Comment.

vourt HER qEedT &t R & wmar @ 1" feoyuht

it |

8

(b) Explain the basic model of communication with a

suitable example.

IU IR F WY WAR F AERA A H

GREIERS

7

2. (a) What is a report? Explain the steps involved in

report writing.



(b)

(a)

(®)

3 3160

frord = ot 22 fOd S o srafdfed wedl

& quEy | 10

Explain the limitations of written communication.

forfiga Ha) & HHE FAART | 5
Or (3

You have been working as the manager with XYZ
Company Ltd. You have witnessed a declining
trend of discipline in the office. Write a suitable
report analyzing the causes of decline and sug-
gesting suitable remedies.

ST XYZ S % HR YEU® F e FH W
® ¥ A FEted ¥ sguEa # O g
) @1 2| zm wEAE ¥ FO0 & fAvRET WS
foqrd fafEd a1 3Ugad STER e | 10
What constitutes a good report? Comment.

=t e = =4 fafife s €2 feoyoft sifew)
5

3. At a meeting of the board of directors of a company, it
was decided that 1,00,000 preference shares would be
issued at a face value of Rs. 50 per share. Draft
imaginary minutes of the meeting and the resolution
concerning the decision.

& Fo % fryes wvee @t dfifén d fofg fem T
f 50 Fo wfo 3w e¥ A 1,00,000 AfeAE S
mﬁ?&mﬁlﬁm%mﬁﬁmﬂqﬁaﬁm
e au frofy s g@ey fafau 15

A e L
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(2)

(®)

Or (ga)
As Head of the Department, draft a memo for the
employees asking them to keep a strict check on
the misuse of office stationery for personal use.

far % @ # e @ FRE B fea
3 2w T Ay 3 s ¥ fad
e B ¥ rEM W EFR AR @ T
Write short notes on any iwo:

(i) Memorandum

(i) Agenda

(iii) Notices.

fdl & W dfa feoolt fafa

(i) I

(ii) s

(i) = (AifeR) | 4x2

4. A customer who has a locker in your bank has-written
to say that he has lost the key to the locker. As
manager of the bank, draft a letter guiding him about
what has to be done.

T A% f uE St ¥ e wes 3 T faEs
Wﬁm%ﬁaﬁtaﬁaﬁf@ﬂ?%lﬂ?%
Wm‘tmamm@ﬁ@wm%
% v fafE | 15

Or (1)
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ABC Ltd. issued an advertisement in a newspaper for
the post of an accountant. Apply for the job high-
lighting your eligibility and work experience.

ABC fifo ¥ SraTe & U8 % foq waERe F o
&mnawmaﬂxmagwam%‘gqan%m
o | 15

_ Discuss the role, effects and advantages of technology
in business communication.

sraEr AR & aFAE @ g, g S @ #=

fad=a Fifww | 15
Or (39d)
(a) Write a short note on social networking:
s Yeafdn w o feowht fafew 5

(b) Below is the list of pairs of commonly confused
words. Write their meanings and make sentences.

(i) Advice / Advise

(ii) Coarse / Course

(iii) Ensure / Insure

(iv) Loose / Lose

(v) Stationary / Stationery.

Wit a e & wegm A9 Y T I
¢ fo@est aed aEy |

(i) Advice / Advise

P.T.O.
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(if) Coarse / Course
(iii) Ensure /Insure

(iv) Loose/Lose

(v) Stationary /Stationery.

2x5

1200
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1. (a) What is cost accounting? How does it differ from

financial accounting? Explain. (7

(b) The following information is available in respect

of material number 30.

Reorder quantity 1500 units

Reorder period 4 to 6 weeks
Maximum consumption 400 units per week
Normal consumption 300 units per week
Minimum consumption 250 units per week
Calculate :

Reorder level
Minimum level

Maximum level (8)
OR

(a) What is idle time? Give reasons for idle time, how

do you treat them in cost accounts. (7

(b) The following transactions took place in respect

of a material item.
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Receipt Quantity Rate | Issue Quantity

March 2 200 Units 2 -
March 10 300 Units 24 -
March 15 - - 250 Units
March 18 250 Units 2.6 -
March 20 = = 200 Units

Prepare a store ledger sheet using:

« LIFO method

« Weighted average method (3)

(=) AT @R T B 2 7 faeia s | 7w {6
YR ot 2 7 e S |

(@) Al & 30 @ W A FefREE gl ST 2

O SR A

9 IeY sEt
Ffreras @ad

g E@qd

g9 |9

1500 afe

4 ¥ 6 9«®

400

300

250

e wid a=E
gfae ufa @<
afqe g |a=E

PiT.Q,
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2. () What are the rcquirements of an officient system
of material control? State briefly. (6)

data related 10 the activities of a

(b) The following
produclion department of a factory for a month:
Direct material consumed Rs. 180,000
Direct wages Rs. 150,000
Factory overheads chargeable 10
Rs. 126000

the department
our hours worked 12000 hrs.

Lab
. Machine hour worked 10,000 hrs.
=
The relevant data relating 10 one order carried
out in the department during the period are as
follows -
Material consumed Rs. 30,000
Direct wages Rs. 24,750
Labour hours worked 1650 hrs.
worked 1200 hrs.

Machine hours
f recovery and

y overhead rates 0
der

rhead chargeable tO the or
ethods :

Compute factor
the amount of ove
by the following m

p.T.O.
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(i) Direct material cost percentage.
(i) Direct labour cost percentage
(1ii) Labour hour rate

(iv) Machine hour rate. 9)

OR

{2) Name any five items which are included in financial
accounts but are not included in cost account.

(%)

{b) Compute machine hour rate from the following
information given below relating to machine X

Cost of the machine Rs. 15000
Estimated working life 10 years
Scrap value 1000
Working hours (per annum) 1800
Insurance (annual) Rs. 500
Cotton waste (per annum) Rs. 200
Rent for department (per annum ) Rs. 1000

Foreman’s salary (per month) Rs. 2000




15000 &
10 a§
1000 &

.

1800
AR 4

500 T

g Same 1S 801(1 at RS;::Z',

P.TO.
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-,

(%)

=)

W R wwm g 1200 2

o # w5 30,000 .

e Ao 24,750 ®

A U FW gaM 1650

ﬁ#ﬁwﬁafﬁ%ﬂiiﬂﬁﬁiﬁﬁﬁ¥ﬁﬁaﬁag@'ﬁz
Hiforg : '
(R T i —

(i) e sm omE wiaeEe

(i) »A7 wer =
(iv) w9 e =
Rl dta s @ ww wm R R

X ¥ W WA P g @
T HeT w e i



3,

ﬁ@ﬁaﬁﬂi“

et 20 e, 28

w g
12 e ¥ Red A

Eal

A product passes

C The normal los

rict processes A, B &

process is 5%,

ame is sold at Rs. 2,

P.T.O.
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Rs. 4 & Rs. 5 per unit respectively. Expenses for the
month were as follows:

A B C

; Sundry materials Rs. 5200 Rs.3,960 Rs.5.924

 Wages Rs.4,000 Rs.6,000 Rs.8,000
Actual output in units 1,900 1680 1,500

2000 units @ Rs. 3 per unit were put into process
*A’. The total overheads are Rs. 18,000 which are to
be recovered at 100% of wages. &

re mecessary

process account. R, (15)
-

OR

The following information relate to the contract
Account number 100 :

Contract price Rs. 6,00,000
Wages Rs. 1,64,000
General expenses Rs. 8,600

Material Rs. 1,20,000

Cash received (80% of specified work)  Rs. 240,000
Material at site Rs. 10,000

Plant ' Rs. 20,000



3712

Included in the above n are wages Rs. 3500,
material Rs. 4000
which were incurred
plant at 10%. Prep
Contractee’s Accoun

balance sheet.

expenses Rs. 2500
cation. Depreciate
~account no. 100,
relevant items in the
' (15)

vF IAE A, B 3R C 49 =
sl ¥ e
10% 3 15% 2t 2

s A R 2 | R
o ¥ fRmr = 5%,
- 2%, 4% IR 5 U

(®F) cC (®)
fafaw amlt 2960 5924
fdr 6000 8000
e ¥ A 1680 1500
2000 IR H 3T F A wfwar ¥ w0

| IR 18000 ® = oAl & 100% R
T T 2| FAEE W e qaR F |

B.1.0L
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G S w@m 100 @ gau Al geER & o 2

wfger #wE 6,00,000 %.
Aorefat 1,64,000
T S 8,600
|l 1,20,000 &
=z w5y (Rfire =& =1 80%) 2,40,000 &
|ge WA 10,000 &
|aa 20,000 &

9 gt ¥ AeRAl @ 3500 , FEAEIT & 4000 T IR
= @ ® 2500 & WA 2, o WU & 9 d
TR | wGT W 10% YeOE0d Wy | HfEe W & 100
A S 1 Aar FY S g 7 A e
=i wefia i |

Tirupati electronics produces a standard product. The
following information is gul"un to you from which you
are required to prepare cost sheet for the period ended
on march 2013.

Consumable material Rs.
Opening stock Rs. 10,000
Purchase Rs. 85,000
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Closing stock Rs. 4000

Direct wages ~ Rs.20,000

Other direct expenses Rs. 10,000

Factory overheads 100% of direct labour
Office overheads 10% of work cost
Selling & distribution °Xpenses Rs. 2 per unit solq
Unit of finisheq product

In the hand at the beginning

of the period, 1000

(value Rs. 16000)
Production during the period 10,000
In the hand at the enq of the period 2000

Also find oyy the sﬂﬂ?ﬂce Per unit on the
basis the profit margm% uniformly made to yield a
profit of 20% of the @hg Price. There was po
work in Progress at the beg inning or at the end of the
period. ‘ i (15)
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(b) The Madras Transport Company which keep a
fleet of lorries, shows the following information
for April 2012 :

Kilometers run 30,000
Wages 2000
Petrol, oil etc,

Original cost of vehicles
Repair

.Garage rent etc. .
License, insurance ete. for year 2012

Depreciation is to be allowec
on original cost. Prep

IRiE wrs 8 5o
iR 85,000
aﬁﬂ E‘fﬁ? 4000




FEE E w 100%

= w10
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fEreiiter et ¥

I A g 4000
wiRal it AW Frw 1,00,000
FEHT & @™ 6000
W @ fEmEr e 1000
wrdE, d g ad 2012 & fero 6000

FE A W 25% W A R/ A Ao g 2

Wi freriier awm & onE # yefifa w8 st

2012 & fog =99 dar g

5. The followiﬁg. figures are available from the
records of M.K. Enterprises as at 31st March, 2011

and 2012

2011 2012

(Rs. lakh) (Rs. lakh)
Sales 150 200

Profit 30 50
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Calculate :
(i) The P/V ratio and total fixed expenses.
(ii) The break even level of sales.
(iii) Sales required to earn a profit of Rs. 90 lakh.

(iv) Profit or loss that would arise if the sales were
Rs. 280 lakh. (15)

OR

(a) Distinguish between fixed budget and flexible
budget. (7)

(b) What is budgetary control system? State the
advantages of budgetary control system. (8)

T F. CREIEST & 31 WM 2011 #R 2012 = Rl A
frafafas aoad suse 2

2011 2012

(v & ¥) (7 = ¥)
fasht 150 200
Ik 30 50

BT.0Q,
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(i) PV s o g wER @

(i) fsft w1 wnT- S WX

(iii) 90 W T W A F0r & P smEme e

(iv) @ @ s S for foRt 260 WFE B T A R B
AN

o

(%) wmd v SR T aoe A SR T

(=) v e ST A # 7 A B o
@ @ o 2 7

(4400)
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Attempt all questions.

4T FvET & I ST

1. (a) Define Management Accounting and explain its

objectives.

oY A@iET H g difvr sk 3EE Ry

HHARY |

IC

8

Bol- 0.
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(b)

(b)

2. (a)

(b)

2
Distinguish between cost control and cost reduc-
tion.

wmmmﬁmﬁmi 7

Or (g ¥
Explain the distinction ~ between Financial
Accounting and Management Accounting. ‘

Wéﬁﬁﬁﬁwwaﬁmﬂrﬂﬁt
TR | 8

Explain the term Cost Management, Discuss its
advantages.

‘ww’wﬂm|mwﬁm
faa=m ®ifag | 7

Write an explanatory note On the functions of
budgeting.

i ¥ T T e e fafew | 8

Explain the concept of Zero Base Budgeting.

¥ ER ST Ft Hehea 1 FHFRT | 7
Or (¥1gem

The following details have been obtained from the
records of Smart Tools Ltd. for the six months of
2017 (and the sales of January 2018) in respect of
product X.

(i) The units to be sold in different months are:
July 1,100
August 1,100

-
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September 1,700
October 1,900
November 2,500
December 2,300
January 2018 2,000

(ii) There will be no work-in-progress at the end
of any month.

(ii) Finished units equal to half the sales of the
next month will be in stock at the end of
every month (including June 2017).

(iv) Budgeted production and production cost for
the year ending 31st December 2017 are

thus:
Production (units) 22,000
Direct materials per unit Rs. 10
Direct wages per unit Rs. 4
Total factory overheads
apportioned to production Rs. 88,000
Prepare:

(A) Production Budget for the six months of
2017

(B) Summarised production cost budget for the
same period.

sare X ¥ g 2017 % @ "R (AR Sl
2018 1 faEa) ¥ @ T foo & fiwrd ¥ =
faaror T Rl T €

P.T.O.
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(i) e wt F fasia swal g—

SIS 1,100
T 1,100
fgam= 1,700
FHFEE 1,900
ECLTE 2,500
fegmax 2,300
S, 2018 2,000

(i) fordht o 7 F o & F A foeiter w5

TE B

(iii) ¥ WE ¥ < ¥ A WE (S[F 2017 W
firm) ¥ fama & 1% ¥ aUR AR A

H &Y B

(iv) 31-12-2017 & ¥A@ ¥ F fag e

Iee i IEET A —
IR (3FT3AT)
werey |t i 3T
gy el ufq R

F FREET IURAT S IR
= famfsa gan

FRT

4

22,000

10 %¥o

4 %o
88,000 ®o

(i) 2017 % B: WG & fOQ IRA T9
(i) I Fafy F g G AT AT T |

15
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mmw-mﬁﬂmﬁmx 7

Or ()
The standard cost of ach ical mixture is a8 follows:

40% material A at Rs. 20 pet kg
60% material B at Rs. 30 per kg

A standard 108S of 10% of input 1s expected 10
production- The cost records for 2 period showed the
following usage:

90 kg material A at 2 cost of Rs. 18 per kg
110 kg material Bat 2 cost of Rs. 34 per kg
The quantity produced was 182 kg of good product.

Calculate all material yariances.

40% TEH A 20 ®° ofs fEat ¥
mvoarxrn"fnsotosrﬁrmh%
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6

110 foFet MU B 34 %o wiq e &t @ma .
182 feeit 373 3E H 3G 3T |

gt st G o e 15

4. (a)

(b

Describe the characteristics and limitations of
Marginal Costing.

digig o = fadwaed 9 @Rt & il
Fifa | S

Calculate break-even point in each of the
following independent situations:

(i) Actual sales 50,000, Margin of safety 30%

(ii) Profit 30,000, Margin of safety 20%,
Variable cost is 70% oef sales

(iii) Margin of safety 70,000, Actual sales
4,00,000

Actual sales 10,000 units, Margin of safety 2,500
units.

fr @ foufedt & s@® & aw-sremy fag)

(i) areafas fasa 50,000; FET HA1 30% |

(i) =19 30,000, GI&W HH 20%, GRS
arma fased 70%

(iii) L& "= 7,000, arEiash faswa 4,00,000

arafas faska 10,000 3HE, &0 HHT 2500

T | 10




(a)

(b)
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Or (39E)
What do you understand by Break-Even Analysis?

Show graphic presentation of Break-Even chart.
E—
ar-sTens 9 1 mE e fEne 5

From the following data prepare Income State-
ments according to absorption and marginal
costing systems:

Produci Product Pr_oduct

A B C
Sales 30000 60,000 80,000
Direct Material 12,000 25000 36,000
Direct Labour 8,000 10,000 14,000
Factory Overhead: :
Fixed 6,000 8,000 6,000
Variable 2,000 3,000 5,000
Administration
Overheads:
Fixed 1,000 2,000 2,000
Selling Overheads:
Fixed 2,000 2,000 3,000
Variable 1,000 3,000 3,000
frer sitwer @ sEwET o diq anE Sonferar
¥ ER aa faew dER FET 10
WA WK B IWEC
fa®g 30,000 60,000 80,000
W |Hut 12,000 25,000 36,000

P. T 0.
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qiEdeid

5. (a) Explain briefly the circ

8,000

6,000
2,000

1,000

2,000
1,000

10,000

8,000
3,000

2,000

2,000
3,000

14,000

6,000
5,000

2,000

3,000
3,000

umstances under which

selling below marginal cost may be justified.
dioig er@ @ & W fama &
e Al aRrefe g o gAFEl | 5

(b) A firm has 2 capacity to manufacture 15,000 units
of a product per annum. Presently it produces
10,000 units which are sold in domestic market at
Rs. 25 per unit. The product cost per unit is as

under:

Material
Labour
Factory overheads:

Fixed

Variable
Office overheads (fixed)

rafad

Rs.
8-00
6-00

2-00
1-50
1:00




Selling overheads:
Fixed

Variable
Total

3171

0-50
1-00
20.00

A foreign customer is interested in the product
and he is willing to buy 5,000 units (one order) but
at a price of Rs. 17.50 per unit. Should the order
be accepted by the firm? If yes, what can possibly
be the underlying assumptions? Will your advice
be different if the price offered is Rs. 15 per unit?

TH THE F 49 @ IEE W 15,000 THEA 7
A 3T | 39 WHE F® 10,000 IHEEN
3 & adt 3w o 25 %o why s
W AR A R o} 9 = sar e

s yar 8—

mzﬁ'

oq

FREMAT =g
feeg

URad=viter
Frfag Iy

fasa sufteag
far

RECHENI]
L

o
8:00
6-00

2-00
1-50
1:00

0-50
1-00
20.00

ol D )
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()

(®)

10
U faRyit uew I § w9 @@ @ a9 IEE
5000 FFEAl @A F dIR B T 17-50 To A
THE & G Y| A G OH AW o S =Ey ?
Ifg &, @ Iust F= fafga Euromd wewifaa € 2
gfg 15 To WA 3E F o9 W ARY o W &
T Y GeR FB SR A ? 10
Or (¥raan)

Explain the different methods of measurement of
divisional performance.

faanita wesfa &t Ao &t fafa= fafgal =
HHHART | 5

A company is at present working at 90% cap'acity
and producing 13,500 units per year. It operates a
flexible budgetary control system.

The following figures are obtained from its
budget:

Capacity level 90% 100%

Rs. Rs.
Sales 15,00,000 16,00,000
Fixed expenses 3,00,500 3,00,600
Variable expenses 1,45,000 1,49,500
Semi-fixed expenses 97,500 1,00,400
Units manufactured 13,500 15,000

Labour and material cost per unit are constant
under present conditions. Profit margin is 10% of
sales at 90% capacity.
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() You are required to determine differential

cost of producing 1500 units by increasing
capacity to 100%.

(1i) What price would you recommend for export
of these 1500 units, taking into account that
Overseas prices are much lower than
indigenous prices?

Eﬁmﬁmwm%mwmm
13,500 el 1 s sarT w w3 o4
mmmwmw%

3hF TR A B st ww B 2
AT W 90% 100%
o To
EED 15,00,000  16,00,000
fer =g 3,00,500 3,00,600
Radaviie =g 1,45,000 1,49,500
Fo-for =g 97,500 1,00,400
fAffa sardat 13,500 15,000

mﬁxm?amanﬁrméfhn?tﬁqm
R &1 e g 999 & W sy @t
10% % |

(i) mﬁﬁmﬁéwmmmé};
100%%%15{1@%@@%
ferar s

RO
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(i) ¥ 1500 swEat & fraia & fow = =0
Tem & fawfte &1 @ @ wW owe q
aY g f5 fadelt Fimd = o ¥ FH
FH T2 10
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Your Relli Mo S
SL No. of Ques. Paper: 3172 IC
Unique Paper Code - 52417606
Name of Paper : International Business
Name of Course : B.Com. : DSE-4
Semester : VI
Duration : 3 hours

Maximum Marks : 75

(Write your Roll No, On the top immediately on ma}woﬂhbquenionm}
(9 77797 & firerd @ % i ﬁwfﬁamwmﬁm%ﬁ#u

NoTe:— Answers may be written either in English or in
Hindi; but the same medium should pe used
throughout the paper.

ﬁrwuﬁ:—-swmarrearafz??ﬁ T &<t fFa o
T q FET ST @ s a7 T TE g
&1 fE

Attempt all questions and answer all parts together.
Wm%mﬂmmm%w T TF WY Fifrg

1. (a) Why do companies globalize? Explain with
suitable examples.

FEEE AvEOr R e €2 drmom
HHFRT | 7
(b) What js ip ternational business? Distinguish

between international business and domestic
business.

2T O



U7 2

syt oxawr w4 e @2 st SEEd

sty st smEE ¥ ST i 8
Or (279€N)

Governments are leading the attack on Globalization

everywhere. Do you agree? Substantiate your answer
with latest examples.

amaﬂmmmaﬁwﬂmaﬁm‘
ﬂmrﬁ%nwmm%?aﬁmﬁ
s Seel § g FT 15

2. (a) List and explain the different modes of entry for
an international business firm.

sietn st i & wd e w0 A
fafsr=r wonfaral &1 gEraa H EHRT | 7

(b) Give a brief of the political environment faced by
a MNC. How does it create political risk for the
business?
MNC Z0 W Ry T gefes e EDl
dfea § dfve) wEEE F fag 7 fFE SR
qerifos ifgw dq a@ €7 8

Or (¥ \
(a) Discuss different elements of cultural environ-

ment which have an impact on international
business operations.

qiﬁ:ﬁaqﬂ%mé:wf‘afwaﬁmﬁém
Fifqr o sy srEEtaE S WA
-z € 7
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(b) Discuss different elem
ment which have an impact ©

business operations.

ents of economic environ-
n intcmational

3. () Explain the importance of the product life cycle
theory in explaining trade between nations.

gst & @9 S & e ¥ fag 3 s

7

(b) Write 2 short note On trends and pattert of

foreign trade in Irdia.
g § fasEt & wafedl ot = w®
siftge feomoft fafEd! 8
Or (FFE)
(a) Explain the role of the WTO as 2 regulator of
world trade.
firgg R & AT ¥ w7 # WIO # wfireRt
Ry | 1
(b) Write short notes on any two:
frdl & W WIES feaforai fafE@e

(i) ASEAN, (i) NAFTA, (iii) SAARC

4. (a) Distinguish between fixed and flexible exchange

rate systems with example.
P.T.O.
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fer qu siraefter fafim @ sonferdt & e
HdT Ffrw | 7

(b) Distinguish between foreign exchange risk and
foreign exchange exposure with example.

ﬁ%?ﬁﬁﬁmﬁﬁfiawﬁtﬁ%vﬁﬁﬁwm
ﬁmmﬁﬁm 8

Or (37

lain the 1i framework for FDI in Indian
policy
context, H

mmﬁﬂmlﬁmmmma 15

5. What do you mean by organizational structure for
international business operations? Explain the global
product structure in this context.

AT s gar TSNS GET Q

9 0 W 32 59 wed ¥ e I g o)

YR | 15
Or (319e)

Write short notes on any two of the following:
(a) Business Process Outsourcing

(b) International Mergers
(¢) MNC Impact on Environment.

ﬁnﬁa@aﬂﬂfﬁ'awﬁmmm
(a) =aEE THAT F M@ w@g
(b) gt famm

(c) TAfRY W MNC % 513 | 15
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Your Roll No. .....ccccvunaies
Sl. No. of Ques. Paper : 3176 IC
Unique Paper Code : 52417611
Name of Paper : Organisational Behaviour
Name of Course : B.Com. : DSE-4
Semester : VI
Duration : 3 hours
Maximum Marks : 75

(Write your Roll No. on the top immediately
on receipt of this question paper.)

(sw To-vT & Ped & s RE 78 FEia
@A R A G fred )

NortE :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout

the paper.

fagoft : WWWWWWWHW@W
#’a?ﬁ%aﬁﬂmﬁaﬁﬁwmmwa‘ra?w
qifey |

Attempt all questions.

oot got @ I g

1. (a) Explain the collegial model of organisation. How does it

work in the modern organisation?

P.TO.



et & Hie el (Fifiiee) JiEd ' AT
a?fﬁmlwgﬁﬁﬁnﬁﬁu%%ﬁmm%? 8

(b) “Feedback completes the communication process.” Do you
agree? Comment.

BT W BT @ Qe R o
Fea %7 ool A 7
Or (sra=)

(a) Define ‘organisation behaviour’. Why is it important
for the modern day managers to study organisation
behaviour?

ST AR @ uRwE g | S LED
¥ yauE @ g eI EeR H ST &t

- HeEgt ¥7 8
(b) Discuss the technique of ‘Johari Window’.
eh g @ e @ R S 7

2. (a) Whatare the big five traits of personality?
e 7 de g Rdwa @ g 8
(b) “OB focuses on the job related attitudes.” Explain.
T SRR B & W e W A
E wEEEe 7
Or (m)
(a) What are the factors influencing perception?

mg‘tgﬁraﬁgwﬁamﬁmmw%? 7

3176 2



(b) Name the four theories of learning. Explain any one of the

theories. .
m%mﬁaﬁﬁ%mmuﬁ:@w
maﬁmaﬁmn 8

. (a) Motivation is the core of management. How do the

motivated workers contribute to the organization?

Smer et 1 T Bl S e e

3y e A ¥ 8
(b) ExplainKenneth Thomas Intrinsic and Extrinsic theory of

motivation.
mﬁm%mm%mﬂﬁqﬁmﬁmﬁ
;MI Ly

or ()
(2) Define motivation. Whatisits importance?
ST 1 AR it | <aa @ wean 87 8

(b) Discuss in brief Vroom’s *Valence motivational exp-

ectancy model’.
= & dod Y e qisa £ wag § REE
FHifag | 7

. (a) Do you agree with the statement that ‘Jeaders are bormn

and not made’? What are the traits or qualities of a good

leader?

3176 3 PTO.



T Y T FAA ¥ wewa ¥ Far ¥ey @9 ¥
6 R O oS Jar @ @ YU AT e e
g2 8
(b) How can an organization prevent conflicts? Explain in
brief.
aF HTeT O @ 9 A% @A &7 WA A
T | 4 S
Or (vraan)
(a) Organisation culture is different from organization climate.
List the main points of difference in both.
e R W awree ¥ e &1
# o @ gor fagell & gEEa S | 8

(b) What are the consequences of stress for the individual

and organization in studying OB ?
FEEE WAE & oeAgd § AT adr §ed
AT B T4 IR &7 7

5 : Write short notes (Attempt any three) :
(i) Managing change in organisation
(i) Individual v/s Group decision making
(iii) Type A v/s Type B personality
(iv) Power in OB
(v) Emotional intelligence.

3176 Bl
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5,59

1 and answer the questions :

A fast growing company recently collaborated with a large
; ' reputation and

ed to discipline the

the ne!
workers should not waste their

time and should be regular and

pmctual.
introduced the bio- |

The top management, without consulting,
metric attendance system for its employee
5 days, a full daY sal

10 minutes once onlyinl

use their mobile
hours including lunch time
ery corner of the office

s. After a grace of

|
ary was deducted. .1
phones and visit

The CCTV

to monitor

They were not allowed to

social sites during office
was also installed at every
them closely:

PTO.
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After 6 months seniof management observed that the
-pecformance of the employees has not increased as expected
and the personal relationships of the employees ar¢ not cordial
as they used to be earlier.

Questions -—

(i) Whatare the main issues in the above case?

(ii) Do you agree with the top management approach 7 Give

reasons for your answer.

(jiz) List out the possible solutions 1o overcome the issues and

mﬁﬁ%mmﬂﬁmuwﬁw%mﬁaﬁqﬁﬂ

%mmamwﬁmﬂﬁmwm
a@mﬁmmmmmtmhmm
%mﬂﬁaﬁtmquﬁmaﬁq@ﬂﬁ
W@Wﬂmmmﬁm

mmmmwa.mmm
mﬁmﬁmﬂﬁ%ﬁlﬁanmﬁnaﬁqﬁm@mm
Wﬂqsﬁnﬁ,ﬁm%ﬁaﬁw@ﬁﬁﬂw

mﬁmwnaﬁmwﬁ,aﬁaﬁﬁia‘a%

|

|

\
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This question paper contains 6 printed pages.

Your ROH NO. ..oocovuvucseseressssirinisssss
SI. No. of Ques. Paper: 3164 IC
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Maximum Marks 1 75

(Write your Roll No. on the top immediately
mrecciprofmitqlum'onpapﬂ)

(e 507 & fred @ W A w3 freiia
A ST SEAE e ()

Note:— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.

fcmﬁ:—swwmmamsfﬁa?mfa——eﬁﬁm?w
wﬁﬁﬁmaﬂ?aﬁaﬁwmmwﬁ
g |IET |

Attempt all questions.
@t ge & I AT

1. (a) Discuss the process to be followed by companies
in raising money through Initial Public Offering.

IPo%nﬁﬁawmﬁ%m-ﬂrﬁﬁfmﬂ
are 1 S el stEar & faae S 8

P.T.O.



364 2 |

(b) Distinguish between Bond and Equity as invest-
ment alternative.

rrer frmer ¥ w9 & afe ok ifeA ¥ sde |
Fifaw | 7 ,
Or (31era) {

(a) “Stock Exchange plays an indispensable role in |
Indian economy.” Comment.

“ardta Adeaen ¥ ww fauin @ e \
sfirr 17 feumit ST 7

(b) What is speculation? Point out difference
between investment and speculation with !

example.
wer ¥ 22 fRw @k @2 & AR SR
IR | 8

2. (a) The return (%) on securities X and Y under
' situations are given below:

X @ Yy wfaqfadl @ S & W (%) F@T |

feaferdlt # A3 @ I
Probability Security A Security B
-50 15 20
-8 18 22
-70 20 25

Find risk and return associated with security.

wfaqfa ¥ wwafua sifem aun aqdl fFefag ) 8
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(b) Discuss candle and stick chart.

s 3l fizs T T AT T | 7
Or (21T
(a) Define risk. Distinguish between systematic and
unsystematic risk.
i = e AT srafora #R AT
e & K AEC] N

(b) The following particulars relating to mutual fund
are given to you: \

qgmmﬁwﬁuaﬁnﬁf@ﬁfamm t

oy ™ T
Management Advisory Fees Rs. 275 lakh |
Administration Expenses (including .
fund manager remuneration) Rs. 350 lakh
Publicity and documentation Rs. 80 lakh
Opening NAV Rs. 108 crore
Closing NAV Rs. 170 crore

Ascertain the expense ratio.

mwﬁﬂqﬁmﬂaﬁm1 8

3. (a) What is Exit Load? How does it affect return to
the investors?

ﬁmm(Exitmd)m%?ﬁawﬁ@tﬁ?ﬁ
aﬁﬁamﬁﬁﬂﬁumﬁ'ﬂmi?

P.T.O.
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(b) Following information is available in respect of
mutual fund investments:

e W0 (AT § gEtud fra e sTde
&

6% Debentures 1,000,ﬁ00
9% Government Bonds - 900,000
Equity Capital (50,000 equity

shares of Rs. 100 each) 5,000,000
Total 6,90,000

During the year, the mutual fund received divi-
dends of Rs. 1,000,000 on equity shares, interest
on debenture and bonds were received. Operating
expenses incurred during the year were -Rs.
600.000. What would be the NAV of mutual fund?

a8 ¥ < nggeE WU X wwar Ifwl, Forgs!
3ty afz W =A™ & &9 F 1,000,000 Fo WA
&2 af & < aftared =9 6,00,000 Fo o)
A FUE F NAV 41 8 2 8
Or (¥19a)
What is CRISIL mutual fund ranking? Discuss various
parameters considered for ranking along with suitable
example.
CRISIL ¥H3d %8 Avit =41 8 2 Avitg" &1 & fau
wqw fafi=r Aevel &1 |iqrew fad= g 15

4. What do you mean by futures? Which products are
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available for trading in futures in India? Explain in
brief how valuation of futures is done.

qﬁt'ﬁtﬁﬂmwm%?mﬂmﬂzﬁﬁ%
w%mﬁ:ﬁmw%?ﬁmﬁm

et it @ e e S S (4 15
Or (319@)
(a) What are commodity derivatives? Explain with
example.

mﬁaﬂ—aﬁaﬂ-wé\%-%? grereto gaFEe |7
(b) Write a note on ‘types of options’.
‘faa;a@f=-aam’qlqasﬁmvﬁﬁf@m 8

_ Write short notes on any three of the following:

(a) NSE

(b) Limit Order

(c) P/E ratio

(d) Open ended mutual funds.

e & & fdl A R EES feomit faf@®:

(a) NSE

(a) T SR

(a) P/E T

(a) Open ended mutual funds. 15

fE P.T.O
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What do you mean by analysis of financial statement of
a company? Explain the tools or techniques employed
for analyzing financial statement of a company.

M%ﬁﬁﬂm%mﬂwﬁmmm
%?mﬁ%ﬁ?ﬁﬂﬁm%mﬂwﬁmaﬂaﬁ
Srora] ARl @ SHEEl | 15
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(WuyowMNabummpMdiatebr
on receipt of this question paper)

(v W & fed @ WA m fraffa
e A SR fered 1)

Note:— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.

ﬁmﬂ:—mmmmﬂa?mwmqa
i @fre SfeT qdt 390 F AEH T3 &
grr SiEg !

Attempt all five questions.
All questions carry equal marks.

m?vfaw#i‘é-'aara"iﬁm
a3t we F oiF G B

1. (a) Define E-Commerce. State some important goals
of e-commerce.

P.T.O.
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fgmd 1 ufomfud ST fgmd & IO
HEA(Ul @1ed qaRy | 7

(b) What is Supply Chain Management (SCM)?
Describe its basic components.

ar{ﬁfﬂi@wm(scmw%?s@;

SRR Tl o a0t hifo | 8 |

Or (39 |

(a) Explain the framework of e-commerce. ‘
i-a:mf ¥ i = aHEEe | 8 |

(b) Explain briefly the limitations of e-commerce. |1
£t 2 el @ A § wEEl | 7 |

2. (a) Discuss the various marketing strategies that
should be considered for success for online
business.

ﬁfmﬁwmmwﬂﬁﬂﬁmmﬁ% |
mﬁqmaﬂm%ﬁﬁmﬁm '.

e | 8|1
(b) ?.xplain the concept and characteristics of :
internet.
Tetie F TN qu fareand e | 7
Or (3@

(a) Briefly discuss different e-business models.
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that
nline

(®)

3. (a)

(b)

(2)

(b)

4. (a)

3 3255

fafir=r §-=amoR wizel 3% WA F frd= ST
8

How can the customer’s feedback be managed in
an online business?

T HAqemgd AR H IquR F1 afafEar S8
yafaa F1 o1 g%dt € ? 7

What are different components of IT?
IT & fafu= w2= = 2 8

What is intranet? What are its features?

T ¥ 8 2 saet = fasad €2 7
Or (&g

How has internet evolved? What are different
types of communication being provided by the
internet?

U 3N fawiea g20? =0 TN R 6

o At fafe= SHR % guR w4 42 8
What is middleware? What are its functions?

foreeaat &1 8?2 9% == 5 2 | 7
What are the advantages and disadvantages of

payment gateways?

eq YT & A A qw whEr @ 2 8

A8 L0
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(b) Briefly discuss the different website promotion

tools.
fafir Yaarge gadT SuHn 5 €9y § =
g | : 7

Or (4g=)
Write short notes on any three of the following:

(i) B2Band C2C

(i) E-Money

(iii) Applications of E-Commerce

(iv) Protocols.

fra & ¥ fel @7 W gfgw feomft wHifee

(i) B2B @ur C2C

(i) 39K

(iii) &~ & ST

(iv) §e€ | 3x5=15

5. Write short notes on any three of the following:
(i) Client threats and server threats
(ii) Digital signature
(iii) Symmetric and asymmetric encryption

(iv) Main provisions relating to section 66F of the
Information Technology Act, 2000

e — =
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(v) Hacking and its related penalty (Section 66)

(f) Secure electronic record.

ey 4 et A Hf froll FNT

(a) TG ST T FEH e ‘

(b) fefera TwE

(c) |HfHg q arawia TR

(d) g st sHaREE, 2000 ¥ s 66F ¥
gafag Jed NEud

(e) A a3 FErEd 9 (TS 66)

(6 W:ﬁﬂmmﬁl 3x5=15
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5. No. of Question
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Intellectual Property Rights (IPR)
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Semester
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Maximum Marks : 75

(Write your Roll No. on the iop immediately on receipl of this question paper.)

Afte

mpt any five questions including

Question No. 1, which is compulsory

Attempt all parts of a question together.

L. (A) Define

(a)

(£)

the following (any five) : 5x1=5
Trade secrets

Industrial designs

Copyrights

Geographical indications

Patents

Trademarks.

PTO.



(B)

©)

K 2 3 2411

State True or False (any five) : 5%1=5

(@)  Patents are territorial rights.

(k) Registration of trademark does not render exclusive
rights to the company to commercialize its products
in the market.

(¢) Makrana marble has a registered Gl tag.

(d) Copyright is an unregistered right.

(¢) A design can be registered under the Design Act
(2000), only if it is new or original.

] A telephone directory is copyright protected.

(g) The criteria for patentability of an invention are
novelty, inventive step and industrial applicability.

Fill in the blanks with the appropriate names of protocols/

treaty or conventions (any five) : 5x%1=5

() ...l is an international system for obtaining
trade mark protection for a number of countries and/
or regions using a single application.

I . adopted in 1883, applies to industrial

property in the widest sense, including patents,
trademarks, industrial designs, utility models, service
marks. trade names, geographical indications and

the repression of unfair competition.



(d)

(e)

Write short

¢ 3 ) 2411

is for the protection of Literary and

Artistic Works.

................ allows deposits of microorganisms at

an international depository authority to be

r.ecognized for the purposes of patent procedure.

covers international rrade in goods.

........................ is an internationally recognized
system, which allows the breeder t0 hold intellectual
property rights in the propagation of a new variety

for commercial use.

notes on any three of the following ° 3x5=15

(a) Plant Breeders’ Right

() Howare semi-conductor chips protected under 1PR 7

() Why is it important 0 protect 1P ?

(d) procedure for obtaining patents in India.

Differentiate between the following : 5x3=15

(a) Service mark and Collective mark

P.T.O.
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(b)
()
(d)
(e)

(a)

()

(a)

(&)

(@)

(b)

{ 38) 2411
Copyright and Patent
Infringement and Passing off
Trademark and Gl
Discovery and Invention

Explain Intellectual Property infringement issues. How
are Indian laws involved in licensing and technology

transfer ? 7.5

Describe International Treaties and Conventions on

Intellectual Property. 75

Define Trade Secret. Give the legal aspects and risk

involved in Trade Secret Protection. 7

What is biopiracy ? Why is it important to protect
Traditional Knowledge ? Explain the role of TKDL in

protection of Traditional Knowledge. 75

Describe basic and associated rights of patent. Comment

on The Patent Act, 1970. 75

Describe the features of Industrial Design. How to obtain

registration of International Industrial Design ? 7.5
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(&9 9¥-97 % e i sw e T Freffa e S SFEw e 1)
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Hindi; but the same medium should be used
* throughout the paper.
feoqoft:— anmaaraﬁa?wf’ﬁ?ﬁm?w
g & AT AfET gt IaU F OAEIH & &
el

Attempt all questions.

H‘#nﬂ?’%‘aﬁ?a’)ﬁq;

1. (a) Define Personal Selling. State its objectives.

safea faa @ uftefya S | 96 SR H
ERIEE 8
(b) What are the essentials of effective salesmanship?

st fay Etvre #1 wn sifrerard @2 7
Or (379e)

(a) Define Relationship Marketing. How is it impor-
P.T.O.
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(b)

2. (a)

(b)

(@)

(®)

2

tant in today’s environment? State the role of
salesperson in relationship marketing.

e faque s SR SAfw ) ore & AET
& wg f R A 37 gy fawE H
fagaet @ AR Fargd |

How does a sales job differ from other jobs?
Specify.
m-mmmarma:a%?m
Hfee | 7

How would you use the AIDAS model of selling in
sales process? Explain.

mmﬁmﬁtmmmmm
arq A w01 ? FEARL . 8

What are the various steps which need to be fol-
lowed while designing an effective sales manual?

Or (Fa)

How does the knowledge of id, €go and superego
help a salesperson in targeting their products
effectively to the consumers?

qEaE, FEER, H(ATCER @R ) F I F
faedt f & s Ed W gt €M &
Mﬁt@aﬂéﬁmﬁawaﬁqﬁﬁm
T R 2 8

Explain the various types of sales reports
prepared by salespersons.



3. (a)

(b)

(a)

(®)

3 3166

ﬁ%mmamﬁaﬁm?ﬂﬁfmmaﬁ
frr FOE I TG | 7

Define the rational buying motives of consumers.
How are they helpful for a salesperson?

mﬁmaﬂ%iaﬂmﬂa:mﬂﬂnﬁfaﬁqﬁw
aﬁqnﬁi‘aﬁmaﬁﬁmﬂrqﬁaﬁ%? 8

Briefly explain the modern sales approaches used
in personal selling.

Wﬁwﬁwmﬁmmaﬁ
Ha & e | 7
Or (3ga)

Explain the Motivation theory of Maslow’s Need
Hierarchy and its uses in personal selling.

m@%mammmﬂ%aﬂ‘qﬁmmmaﬂt
awﬁﬁﬁmﬁw%mﬁmﬁal 8

What is right set of Circumstances theory? How is
it different from the Problem Solving Approach?

'qﬁﬁmﬁiﬁ%mmwﬁﬁzm%?m

4. (a)

(b)

mmmﬂuﬂﬁ:ﬁfw%? 7

What is Approach? Define different types of
approaches used in sales process.

mw%?ﬁmmﬁmﬁfwm
3 <l @ AR e | 8

What is the significance of follow-up in ensuring
effective sales process?

P.T.O.
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4

Tl fasa s @ gfafess &0 F wie-ag
(ITTERN) W FA e R 2 7

Or (3r9am)

(a) Briefly explain the methods of handling objections
in sales process.

foska wfwan & amoforal W wefard =<3 ¥ ad@=y
H HAY F wmEmEy | 8

(b) Why close has to be initiated in sales process?
Define various types of close in personal selling.

fama sk & a< (3o @ Rear wmm 392
éﬂﬁaaaf‘amﬁ'ﬁrrwm%a-—qaﬁtrﬁmﬁa
Fife | 7

Write short notes on any three of the following:

(a) Salespersons are born not made

(b) Developmental Selling

(c) Ethics in Personal Selling

(d) Tour Diary

(¢) Order Book.

Frefafas & ¥ felt @ w dfea feooft Fifew:

(a) fasrasaf a1 99 & a9 =& sy

(b) Ferreitr fosa

(d) IR '

(e) R THH | 3x5=15

7100
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wmﬁmamfaﬂﬁﬁwaﬁaﬂavhﬂﬂmé

(b) What is the importance of Personal Selling for
consumers, marketers and society?

IR, ﬁwmaﬁ-sﬁtm%maﬂﬁm
fosra &1 wge ==r 82 7
Or (319

(a) “Personal Selling is the heart of Relationship
Marketing.” Comment.

" P T e w1 e 40 feah
HITT | 8

(b) Distinguish between personal  selling - and
advertising.

%mmﬁmamﬁamﬂ‘wﬁml 7

2. Compare the traditional and modern approaches to
selling.

ﬁm%mﬁmﬁmmgﬁﬁmﬁaﬂm

[ 15
Or (319an)
(a) Explain the AIDAS theory of selling.
fasvar % AIDAS fagra =t THIET | 8

(b) What are the various types of selling situations?

ﬁfwma‘tﬁmﬁwﬁrﬁwé’? 7



3. (a)

(b)

(2)

(b)

3 . : 2
Explain any four methods of identifying prospects
in personal selling process.

aﬂmaﬁmmﬁwmaawa%aﬁﬁ
= fafeat awamE | | 8

What is meant by closing the sale? Discuss the
various techniques of closing.

ﬁmﬁaﬂ(ﬂﬁmmwm%?aﬂaﬁ

Fafyr aeAEl @ fadE R 7
Or (9=
What types of objections do customers raise in

personal selling?

s fama ¥ sodw fee SR & R L&
FQ 8?2 8
Discuss the essentials of 2 good presentation.

qmm%mﬂmmﬁaﬂﬁ%am'
aﬂﬁn{n_ | 7

4. “It is important for a salesperson o understand the
motivation theories.” Do you agree? Explain the
Maslow’s theory of Need Hierarchy.

"m%mﬁméﬁaﬁaﬁmaﬁ
mﬁmr'wmwﬂ?m%
ST N e A R | 15

Or (1T
PO
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(a)

(b)

(a)
(b)
(©)
(d)
(e

4

“Identifying customer’s buying motive is the most
crucial task for a salesperson.” Discuss. What are
the various buying motives?

“PETEd % A R Teaq wE 2
Fairaae & #a WA B Teer won | fEeE
A | fafe THR % HI-40 o141 82 8

What are the various measures for making selling
an attractive career?

fawa o % oneds wiwss ¥ 3q fafs=r su
¥ 7 | 7

. Write short notes on any three of the following:

Ethical Aspects of Selling

Types of Salespersons

Techniques of Handling Objections
Sales Manual and Order Book
Myths of Selling.

frefafag § ¥ fisd @9 w dftra feooft Sifee

(a)
(®)
(©)

(d).

fama % Afas we
fasrasaiall & YHH

foamdl S T W T
fosear Frammae qum SRV T&

(e) Tosha & fugsh | 5%x3=15

500
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Tmuﬂ:-swwmarram#ﬁa?wfaz‘tﬁm?qm
qTeT ¥ ST dfeT a4 I F AW &
g SET

Attempt all five questions.
All questions carry equal marks.

gt giq gt & I ST
st v F 5F g &1

1. Distinguish between productive efficiency and

allocative efficiency. P.T.O



3010

2

IAEH &HAT 97 A &9ar # Ja¥e HfFF 1 15
Or (379a)

Explain the various functions of Export Promotion
Councils.

frata gads wiwel & fafy= «d areme 15

Explain the main features of ‘Current Industrial

Policy’.

“Fium sitenfs fifa” i qea favwad awsnsd | 15
Or (319an)

(a) What is the constitution of Advisory Committee?
Explain its functions.

RS’ Gifa & §ed 41 227 39% e
qUEEY | 8

(b) What are the measures for promotions, deve-
lopment and enhancement of competitiveness of
Micro, Small and Medium Enterprises?

e, ©Y a9 HeAw Il (MSMEs) @
sfamuicishal & d9aq, fawm aw gfg & fod
47 39 §? 7

. What do you mean by SEZs? Explain the advantages

and disadvantages of SEZs.
SEZs ¥ W& ¥ WA 2? SEZ ¥ wiw-wifd

quAEY | 15
Or (3Ag4E)



wmammmﬁ'ﬁzﬁmn 15

- (a) Define fixed exchange rate system. What are ijts
merits and demerits?

Ffe Rfeg o soren H Uiy iy
36 T ik st gy @ 8

(b) Define foreign exbhange market. Explain the
major functions performed by jt.

ﬁ%vﬁfﬁﬁwar_mtrﬁmﬁa Y | 39 g
i%&nﬂgazrimfmsrrs&l 7

Or (
State the provisions of FEMA, 1999 with respect to
the capital account transactions.

t{wﬂmﬁa:éw—&ﬁ%mﬁﬁmmm 1999 %

TET Fand | 15
' Or ( .

- Write short notes On any three of the following:

(a) Adverse Selection _
(b) Causes of unfavorable balance of payments
(c) Sources of demand for foreign exchange

(d) Devaluation and  depreciation of domestic
currency,

B0
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et # & for i e if fewoft T

(a) Sfagel I
(b) sftge TR HEE & F
() ﬁi‘iﬁﬁﬁqqaﬁﬂfﬂaiﬁhﬂ

(@ A TR S A A S

2200
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(v sy & e @ Fw fed m FEiia
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NoTte:— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.- :

ﬁmuﬂ:—wmwmsmaﬁa?mrﬁ?mﬂw
mﬁmaﬁvwﬁaaﬁmmm@a?
grar e | '

All questions are compulsory.
Marks are indicated against each question.

et o7 it € |
st e & wE AR

1. (a) Differentiate between developed and developing
economies according t0 World Bank classification.

P.T.O.



(b)

(@)

(b)

2

fawm d% & affawr & AR fFwfaa @
famraviter srdsgaensit ¥ R HfWT ) 7

Discuss the importance of foreign trade for India.

Ia ¥ fadyit =R & v @1 faae s |
8

Or (19ra)
What is sustainable development? Briefly explain
various measures required for sustainable
development for developing countries like India.

waq fawm F1 32 WRa S fawwdia 3w d
gaq fawm % fad smavas fafu=s sudf =t
HTEAT HIAT | 7

Explain main components of Balance of Payments
of India.

9Rd ¥ YAE F Tgod & gEd "ue &
AT HIWT | 8

. What is poverty? What are its main causes? Describe
"in brief the important poverty alleviation programmes
initiated by Government of India. '

frefran =1 22 39 BT FRU 1 7 9RA WER
o frdaar & 9 0 & 63 99 & ™ gl
HEwal F a9 F fad=ar Hie | 15

Or (3gan)



3 , 7886
What is unemployment? What are its different types?
Explain government efforts for removal of
unemployment from India.
Red w42 T fafe R @ 2 9N ¥

aﬂmﬂm\mﬁ%ﬁ&w%mﬁﬁmi
15

. (a) Critically analyse second and third Five Year Plan
of India.

maﬁﬁ{ﬁwqﬁ‘qﬁﬂqﬁaﬁﬂmﬁm
AT Ay ST | 8

(b) “Green Revolution has increased the production
level substantially, at the same time it has led to
substantial increase in inequalities.” Explain.

“efq iR T SR WX ¥ gfE S F 8 u
@ @ smwmEae ¥ off wRaw g @ g1

HHEARY | 7

_ Or (319am)
(a) Critically evaluate economic reforms in India
since the 1990s.

1990 ¥ WA H IYEw GUR ISR
i I | 8

(b) What do you mean by concentration of economic
power? Explain its causes.

stk S ¥ G¥ET ¥ S9E w4 A 72
TF FRON FH TAAEC | 7

P 1L



7886 4
4. Why did India adopt New Economic Policies in 19917
Explain its main components.

1991 § W@ ¥ 7§ suffs Afeat a4 wew =2 saw
HeT qwl & GHEEy | 15

Or (¥aar)
Write an essay on India’s experience of growth in

different phases of planning and policy regimes across
different sectors.

fafs= &=t & fifq somew we dreer & fafes 9o &
g8 % 9T ¥ 3va W Fray fafeg | 15

5. Write short notes on any two of following:—
(a) Foreign capital
(b) Fiscal policy
(c) Public Sector Ehterprises in India
(d) Pre and post 1991 industrial policies.
= & & forelt & W wferw feoquit fafaw:
(a) facet =it
(b) TS Hifq
(c) 9Ra ¥ wrdwif+es &5 3w
(d) 1991 ® y& wd & 1 sitedfirs Afaai | 7.5+7-5
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Norg:— Answers may be written either in English or in
Hindi; but the same medium should be wsed
throughout the paper.

ﬁm}:—wwmm#ﬁﬁmf?ﬂm@
grr & A AfeT gt IA F AEH & &
g7 Sme |

Attempt all five questions.
All questions carry equal marks.

ast gfe gyt & I T
s T & o G B |

1. (a) Distinguish betwcen Management and Admini-
stration.
— Rtk 7-5

(b) On what grounds do employers and employees cri-
ticize scientific management?

P.T.O.



& S HW 22 75
Or (¥F4a)
(2) ‘Management 15 poth Science and Art” Comment
“Wmﬂmﬁmﬂa‘»ﬁ%r‘ froqoft oL |
7-5

u understand by

B c ok
» fafe @ a8
planning? Discus

2. (2) What is

t
descr

managerial function.

he term ‘Levels of
ibe the different

s the importance of

¥ w9 #

planningasa
@ SepoCa] Fd
7-5

& fa

e |

ing. HOW do

policies differ from planmng
fEEA R dae W e RfeE
prirem ¥ H 22 75
. Or (:ﬂm
(a) What do you understand by Rcsponsibility,
Authority and ACCGuntability? Can aocountability
be delegated?
- sfusr _— J s
g B grad g & wEd
75



(®)

3. (a)

(®)

(a)
(®)

4. (a)

3 3336

What is meant by delegation of authority?
Distinguish between delegation and decentraliza-
tion.

mﬁm%m@aﬂ%wm%?w
aenr fardpliecor ® SR FART | 7-5

What is an informal organization? How does it
differ from a formal organization?

ﬁﬁﬁ!ﬁﬁd’ww%?ﬂéaﬁﬂﬂﬁw
¥ A for A 272 : 7.5

What do you mean by virtual organization?
Explain briefly the main distinction between
virtual and network organisation.

mmwﬁmwmﬂ%?mm
mamﬁaﬁwzﬂ%d’mg@mﬁ

waq # gHeEy | 75
- or(zm

Describe external sOurces of recruitment.

wlf 2% A WAt W Ao |

Differentiate between recruitment and selection.

e e Wl ¥ SR A 7+5

What is meant by training? Discuss its importance
in industrial enterprises.

nﬁrmﬁw_m%?aﬂu‘fﬁﬁmﬁwaﬁ

e @ fad RN 7-5
p.T.O.
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(®)

(2)

(b)

5. (a)

(®)

(®)

4

What are the problems of oommunication? I_-I-ow
can they be solved to make communication
effective?

ear &) g wrend 42 W@ F T W W
2 et a1 E € 2 7-5

Or (3A%=)
Define communication. What are the main

elements of communication process?

IR vt wivaqnaa SN w=ny gfEdar 5 &
oS o R ? 7.5

Critically examine Maslow theory.

ol g &1 SeEdrdS TOE St 7.5

Explain the various steps involved in the process
of control.

fraam =t sfear § wiwfea fafvs =of @
R | ‘ 7-5
Explain the importance of budgetary control.
Tued fraam & " & qugEy |

Or (%)

What is budgeting? Discuss various types of
business budgets.

awed Fa1 ¢ fafu= yoR & aEd awel &
faa=ar Hifsa 7-5

Explain four important qualities of a good control
system.

U St A wonelt AR Al faseand
GLELE 7-5

100



